
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

DIFFERENTIATION

Eamcet Mathametics Ib

1. If x = acosθ, y = bsinθ then 
dy
dx

=

A. 
b
a
cosecθ

B. 
-b
a
cotθ.

C. 
b
a
cothθ

D. 
-b
α
tanhθ

Answer: B

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nFfhiF1REA7p


Watch Video Solution

2. If x = a(cosθ + θsinθ), y = a(sinθ - θcosθ) then 
dy
dx

=

A. tanθ

B. cotθ

C. cot
θ
2

D. tan
θ
2

Answer: A

Watch Video Solution

3. 
d
dx

tan - 1(1)

x2 - 1
=

A. 
-1

x√x2 - 1

}

https://dl.doubtnut.com/l/_nFfhiF1REA7p
https://dl.doubtnut.com/l/_KoaHEBSKVfF2
https://dl.doubtnut.com/l/_cMbG5NwKPHXr


B. 
1

x√x2 - 1

C. 
-2

x√x2 + 1

D. 
-2

x√x2 + 1

Answer: A

View Text Solution

4. The derivatiove of tanx w.r.t. sec x is

A. tan x

B. cosec x

C. cot x

D. cos x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cMbG5NwKPHXr
https://dl.doubtnut.com/l/_GaU7pKMMXOOR


5. If f(x) = tan - 1
3x - x3

1 - 3x2
, g(x) = cos - 1

1 - x2

1 + x2
and 0 < α <

1
2 ,  then 

lim x→α
f(x) - f(a)
g(x) - g(a)

A. 
-2
3

B. 
-3
2

C. 
2
3

D. 
3
2

Answer: D

Watch Video Solution

( (

6. If x = exp tan - 1
y - x2

x2
 then 

dy
dx

=

A. 2x 1 + tan(lnx) +
1
2
sec2(lnx)

[ ( )]
[ ]

https://dl.doubtnut.com/l/_GaU7pKMMXOOR
https://dl.doubtnut.com/l/_zTqx9t6UAtGK
https://dl.doubtnut.com/l/_USrtNA2hx97L


B. 1 + tan(lnx) +
1
2
sec2(lnx)

C. 2x 1 + tan(lnx) + sec2(lnx)

D. 0

Answer: A

Watch Video Solution

[ ]
[ ]

7. If f(x) = sin 2x2 - 2[x]  for 0 < x < 1,  then f′
√π
2

=

A. -
√x
2

B. -√2

C. 0

D. 
√x
2

Answer: C

W t h Vid S l ti

( ) ( )

https://dl.doubtnut.com/l/_USrtNA2hx97L
https://dl.doubtnut.com/l/_s5nYyDIL5Xfm


Watch Video Solution

8. If xexy = y + sin2x,  then atx = 0
dy
dx

=

A. 1

B. 2

C. 
1
2

D. 0

Answer: A

Watch Video Solution

9. If f(x) = sin 2x2 - 2[x]  for 0 < x < 1,  then f′
√π
2

=

A. -
√π
2

B. -√π

( ) ( )

https://dl.doubtnut.com/l/_s5nYyDIL5Xfm
https://dl.doubtnut.com/l/_caMBu2wnfVz3
https://dl.doubtnut.com/l/_i6AkHWL9la5w


C. 0

D. 
√π
2

Answer: C

Watch Video Solution

10. If xexy = y + sin2x,  then atx = 0,
dy
dx =

A. 1

B. 2

C. 
1
2

D. 0

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_i6AkHWL9la5w
https://dl.doubtnut.com/l/_cO4pFZe3tpou


Exercise 1 A

1. 
d
dx

3
3
√x -

4
4
√x

=

A. x - 2 / 3 + x - 5 / 4

B. x - 1 / 3 + x - 5 / 4

C. x - 2 / 3 + x - 3 / 4

D. x - 1 / 3 + x - 3 / 4

Answer: A

Watch Video Solution

{ }

2. 
d
dx

x +
1
x

3
=

A. 3x2 + 3 -
3

x2
-
3

x4

{( ) }

https://dl.doubtnut.com/l/_eCnErwFLCXvX
https://dl.doubtnut.com/l/_ilquxjPEV85w


B. 3x2 - 3 +
3

x2
-
3

x4

C. 3x2 + 3 +
3

x2
+

3

x4

D. 3x2 + 3 -
3

x2
+

3

x4

Answer: A

Watch Video Solution

3. 
d
dx

xn +
1

xn
=

A. nxn - 1 +
n

xn - 1

B. nxn+1
n

xn+1

C. nxn+1
n

nn+1

D. nxn - 1 -
n

xn+1

Answer: D

Watch Video Solution

{ }

https://dl.doubtnut.com/l/_ilquxjPEV85w
https://dl.doubtnut.com/l/_o6rIDoGxtbiS


4. 
d
dx

log
x2

ex
=

A. 
2
x
+ 1

B. 
2
x
- 1

C. -
2
x
+ 1

D. none

Answer: B

Watch Video Solution

{ ( )}

5. 
d
dx

log
x

etanx
=

A. 
1
x
sin2x

B. 
1
x
- sec2x

{ ( )}

https://dl.doubtnut.com/l/_o6rIDoGxtbiS
https://dl.doubtnut.com/l/_2LixvkzoXZtu
https://dl.doubtnut.com/l/_e2tHJMESaUMI


C. 
1
x
- cot2x

D. 
1
x
tan2x

Answer: B

Watch Video Solution

6. If f(x) =

x - 1

2x2 - 7x+5
for x ≠ 1

-
1
3 for x = 1

 then f (1) is equal to

A. -
1
9

B. -
2
9

C. -
1
3

D. 
1
3

.

Answer: B

Watch Video Solution

{

https://dl.doubtnut.com/l/_e2tHJMESaUMI
https://dl.doubtnut.com/l/_2EEjNOomCwJz


7. If y = 22
x
,  then 

dy
dx

=

A. y log102
2

B. y loge2
2

C. y2x loge2
2

D. yloge2

Answer: C

Watch Video Solution

( )
( )
( )

8. If h(x) = ee
x
 then 

h′ (x)
h(x)

A. h(x)

B. 
1

h(x)

C. (logh(x)

https://dl.doubtnut.com/l/_2EEjNOomCwJz
https://dl.doubtnut.com/l/_qCUP2jQ29W5H
https://dl.doubtnut.com/l/_xzV3IRsFFZ2B


D. - logh(x)

Answer: C

Watch Video Solution

9. If y = 2ax and
dy
dx

= log256atx = 1,  then a =

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xzV3IRsFFZ2B
https://dl.doubtnut.com/l/_aprXm3e3oXRo


10. f(x) =
1

1 +
1
x

g(x) =
1

1 +
1

f ( x )

⇒ g′ (2) =

A. 1/5

B. 1/25

C. 5

D. 1/16

Answer: B

Watch Video Solution

11. The derivative of log |sinx|w.r.t x is

A. sin x

B. cos x

C. tan x

D. cot x

https://dl.doubtnut.com/l/_P6KrGz2MNekc
https://dl.doubtnut.com/l/_ynQgp0IrcHCc


Answer: D

Watch Video Solution

12. The derivative for log |secx| w.r.t x is

A. sin x

B. cos x

C. tan x

D. cot x

Answer: C

Watch Video Solution

13. The derivative of logxa w.r.t x is

A. 
loga

x(logx)2

https://dl.doubtnut.com/l/_ynQgp0IrcHCc
https://dl.doubtnut.com/l/_GEfug6TKMLjR
https://dl.doubtnut.com/l/_GE1v88ozgOt1


B. 
- (loga)

x(logx)2

C. 
loga

x(logx)

D. none

Answer: B

Watch Video Solution

14. The derivative of tan3(5x - 3)w.r.t is

A. 15tan2(5x - 3)sec2(5x - 3)

B. 15tan2(5x + 3)sec2(5x - 3)

C. 15tan2(5x - 3)sec2(5x + 3)

D. 15tan2(5x + 3)sec2(5x + 3)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GE1v88ozgOt1
https://dl.doubtnut.com/l/_eY3NkNmNyzfO


15. The derivative of sec ax + xn)2w.r.t x is

A. 2 ax + xa axloga + axn - 1 sec ax + xn 2tan ax + xn 2

B. 2 ax - xa axloga + axn - 1 sec ax - xn 2tan ax + xn 2

C. 2 ax + xa axloga - axn - 1 sec ax + xn tan ax - xn 2

D. 2 ax - xa axloga + axn - 1 sec ax + xn tan ax - xn 2

Answer: A

View Text Solution

( )

( )( ) ( ) ( )
( )( ) ( ) ( )
( )( ) ( ) ( )
( )( ) ( ) ( )

16. The derivative of log x2 + 1  w.r.t x is

A. 
1

√x2 + 1

B. 
2x

x2 + 1

C. 
1

√x2 - 1

( )

https://dl.doubtnut.com/l/_ELWdS0fAIh4J
https://dl.doubtnut.com/l/_PUcmvAo6qsMr


D. 
2x

x2 - 1

Answer: B

Watch Video Solution

17. 
d
dx

 log x +√x2 + 1 =

A. 
1

1 + x2

B. 
1

√1 + x2

C. 
-1

√x + x2

D. √1 + x2

Answer: B

Watch Video Solution

( )}

https://dl.doubtnut.com/l/_PUcmvAo6qsMr
https://dl.doubtnut.com/l/_2cR5pxDAUb67


18. The deriative of log x +√x2 - 1  w.r.t x is

A. 
1

√x2 + 1

B. 
2x

x2 + 1

C. 
1

√x2 - 1

D. 
2x

x2 - 1

Answer: C

Watch Video Solution

( )

19. The derivative of log x +√x2 + a2 w.r.t x is

A. 
1

√x2 + a2

B. 
2x

x2 + a

C. 
1

√x2 - a2

( )

https://dl.doubtnut.com/l/_fts57nhe5utY
https://dl.doubtnut.com/l/_oVraJpN2jeOY


D. 
2x

x2 - a

Answer: A

Watch Video Solution

20. The derivative of x +√x2 + 1
n
 w.r.t x is

A. 

n x +√x2 + 1
n

√x2 + 1

B. 

n x +√x2 - 1
n

√x2 - 1

C. 

n x -√x2 + 1
n

√x2 + 1

D. 

n x -√x2 + 1
n

√x2 - 1

Answer: A

( )
( )

( )

( )

( )

https://dl.doubtnut.com/l/_oVraJpN2jeOY
https://dl.doubtnut.com/l/_WRL66NADDQ0d


Watch Video Solution

21. The derivative of x +√x2 - 1
m

 w.r.t x is

A. 

m x +√x2 + 1
m

√x2 + 1

B. 

m x +√x2 - 1
m

√x2 - 1

C. 

m x -√x2 + 1
m

√x2 + 1

D. 

m x -√x2 + 1
m

√x2 - 1

Answer: B

Watch Video Solution

( )
( )

( )

( )

( )

22. The derivative of log [log(logx)] w.r.t x is

https://dl.doubtnut.com/l/_WRL66NADDQ0d
https://dl.doubtnut.com/l/_xosPZdiiiSN4
https://dl.doubtnut.com/l/_cAnP0hu9hPTI


A. 
1

xlogxlog(logx)

B. 
1

logxlog(logx)

C. -
1

xlogxlog(logx)

D. -
1

logxlogx(logx)

Answer: A

Watch Video Solution

23. The derivative of log |secx + tanx| w.r.t x is

A. sin x

B. tan x

C. sec x

D. cosec x

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_cAnP0hu9hPTI
https://dl.doubtnut.com/l/_HK98zvcvlasB


Watch Video Solution

24. The derivative of log |cosecx - cotx| w.r.t x is

A. sin x

B. tan x

C. sec x

D. cosec x

Answer: D

Watch Video Solution

25. 
d
dx

x
2
+
1
2
log|sinx + cosx| =

A. 
tanx

1 + tanx

B. 
1

1 + cosx

[ ]

https://dl.doubtnut.com/l/_HK98zvcvlasB
https://dl.doubtnut.com/l/_QMFpYGCgvIDW
https://dl.doubtnut.com/l/_5irJkwS8Mfqm


C. 
1

1 + cotx

D. 
1

1 + tanx

Answer: D

Watch Video Solution

26. If y = xlog x +√1 + x2 -√1 + x2 then 
dy
dx

=

A. log x -√1 + x2

B. 
1
2 log x +√1 + x2

C. sinh - 1x

D. none

Answer: C

Watch Video Solution

| |
( )
( )

https://dl.doubtnut.com/l/_5irJkwS8Mfqm
https://dl.doubtnut.com/l/_5Ws3VLMy0cQj
https://dl.doubtnut.com/l/_ULayMBejqXBb


27. The derivative of √tan√x w.r.t x is

A. 
sin√x

4√xcos√x

B. 
sec2√2

4√xtan√x

C. 
- sin√x

4√xcos√x

D. 
- sec2√x
4√xtan√x

Answer: C

Watch Video Solution

28. The derivative of √tan√x w.r.t x is

A. 
sin√x

4√xcos√x

B. 
sec2√x

4√xtan√x

C. 
- sin√x

4√xcos√x

https://dl.doubtnut.com/l/_ULayMBejqXBb
https://dl.doubtnut.com/l/_CcsAKQAFYeXx


D. 
- sec2√x
4√xtan√x

Answer: B

Watch Video Solution

29. 
d
dx

1

√3x + 2
=

A. 
3

2(3x + 2)3 / 2

B. -
3

2(3x + 2)3 / 2

C. 
3

2(3x - 2)3 / 2

D. -
3

2(3x - 2)3 / 2

Answer: B

Watch Video Solution

{ }

https://dl.doubtnut.com/l/_CcsAKQAFYeXx
https://dl.doubtnut.com/l/_mcYgTXAwlihM


30. If y = √ax +
a2

√ax
theny1, y2 at x = a are

A. a

B. 0

C. 1

D. -1

Answer: B

Watch Video Solution

31. The derivative of √sinx + √sinx w.r.t x is

A. -
cosx 1 + 2√sinx

4√sin2x + sinx√sinx

B. -
cosx 1 + 2√sinx

4√sin2x - sinx√sinx

( )

( )

https://dl.doubtnut.com/l/_O2qmbRSurIr4
https://dl.doubtnut.com/l/_5B445R8rRyaJ


C. 
cosx 1 - 2√sinx

4√sin2 + sinx√sinx

D. 
cosx 1 - 2√sinx

4√sin2 - sinx√sinx

Answer: A

Watch Video Solution

( )

( )

32. The derivative of √tanx + √tanx w.r.t x is

A. 
sec2x 1 + 2√tanx

4√tan2x + tanx√tanx

B. 
sec2x 1 - 2√tanx

4√tan2x + tanx√tanx

C. 
secx 1 + 2√tanx

4√tan2x + tanx√tanx

D. 
secx 1 - 2√tanx

4√tan2x + tanx√tanx

[ ]

[ ]

[ ]

[ ]

https://dl.doubtnut.com/l/_5B445R8rRyaJ
https://dl.doubtnut.com/l/_Uq7rop82gtgd


Answer: A

Watch Video Solution

33. 
d
dx

log √cosecx + 1 - √cosec - 1 =

A. cosecx

B. 2cosecx

C. 
1
2
cosecx

D. cotx

Answer: C

Watch Video Solution

{ ( )}

34. The derivative of x2 + 1 5(2x + 3)3 w.r.t x is

A. 6 x2 + 1 5(2x + 3)2 + 10x x2 + 1 4(2x + 3)3

( )

( ) ( )

https://dl.doubtnut.com/l/_Uq7rop82gtgd
https://dl.doubtnut.com/l/_XdBeHkMy2Tan
https://dl.doubtnut.com/l/_tKIxU3MlnkfA


B. 6 x2 - 1 5(2x + 3)2 + 10x x2 + 1 4(2x + 3)3

C. 6 x2 + 1 5(2x - 3)2 + 10x x2 + 1 4(2x - 3)3

D. 6 x2 - 1 5(2x + 3)2 + 10x x2 + 1 (2x - 3)3

Answer: A

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )

35. The derivative of sin mx cos nx w.r.t x is

A. m cos mx cos nx + n sin mx sin nx

B. m cos mx cos nx - n sin mx sin nx

C. m sin mx cos nx + n sin mx cos nx

D. m sin mx cos nx-n sin mx cos nx

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tKIxU3MlnkfA
https://dl.doubtnut.com/l/_rhC4vuI5oKi0


36. The derivative of x√sinx w.r.t x is

A. 
2sinx + xcosx

2√sinx

B. 
2sinx - xcosx

2√sinx

C. 
2cosx + xsinx

2√sinx

D. 
2cosx - xsinx

2√sinx

Answer: A

Watch Video Solution

37. The derivative of x2cos32x w.r.t x is

A. 2xsin22x(cos2x - 3xsin2x)

B. 2xsin22x(cos2x + 3xsin2x)

C. 2xcos22x(cos2x - 3xsin2x)

D. 2xcos22x(cos2x + 3xsin2x)

https://dl.doubtnut.com/l/_S3wGRlhfCjYV
https://dl.doubtnut.com/l/_eHtJnO7XJnAC


Answer: C

Watch Video Solution

38. 
d
dx

eaxsin(bx + c) =

A. eax[asin(bx + c) + bcos(bx + c)]

B. eax[acos(bx + c) + bsin(bx + c]

C. enx[asin(bx + c) - bcos(bx + c)]

D. enx[acos(bx + c) - bsin(bx + c)]

Answer: A

Watch Video Solution

{ }

39. The derivative of eaxcos(bx + c) w.r.t x is

A. eax[acos(bx + c) + bsin(bx + c)]

https://dl.doubtnut.com/l/_eHtJnO7XJnAC
https://dl.doubtnut.com/l/_VuktxjyiEn32
https://dl.doubtnut.com/l/_k51YaOGuRcNo


B. eax[acos(bx + c) - bsin(bx + c)]

C. eax[acos(bx + c) - bsin(bx - c)]

D. eax[acos(bx - c) + bsin(bx + c)]

Answer: B

Watch Video Solution

40. The derivative of sin53xcos32x w.r.t x is

A. 3sin4cos22x(5cos2xcos3x - 2sin3xsin2x)

B. 3sin43xcos22x(5cos2xcos3x + 2sin3xsin2x)

C. 3cos25xsin3x(5cos3xcos5x + 2sin5xsin3x)

D. 3cos25xsin3x(5cos3xcos5x - 2sin5xsin3x)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_k51YaOGuRcNo
https://dl.doubtnut.com/l/_x9K7bObQKI5R


41. 
d
dx

2x2 - 3x + 5
2

(5x - 2)3
=

A. 
2x2 + 3x + 5 1 - x2 - x - 63

(5x - 2)4

B. 
2x2 - 3x + 5 10x2 + x - 63

(5x - 2)4

C. 
2x2 + 3x + 5 10x2 + x - 63

(5x - 2)4

D. 
2x2 - 3x + 5 10x2 - x - 63

(5x - 2)4

Answer: D

Watch Video Solution

{ ( ) }
( )( )

( ) ( )

( )( )

( ) ( )

42. 
d
dx

1 - cos2x
3 + 2sin2x

=

A. 
2(2 + 3sin2x + 2cos2x)

(3 + 2sin2x)2

{ }

https://dl.doubtnut.com/l/_4XDA28a0jgzq
https://dl.doubtnut.com/l/_9ajbeuA5YgDf


B. 
2(2 + 3sin2x - 2cos2x)

(3 + 2sin2x)2

C. 
2(2 - 3sin2x + 2cos2x)

(3 + 2sin2x)2

D. 
2(2 - 3sin2x - 2cos2x)

(3 + 2sin2x)2

Answer: B

Watch Video Solution

43. 
d
dx

tan2
1 + x
1 - x

=

A. 
4

(1 + x)2
tan

1 + x
1 - x

sec2
1 + x
1 - x

B. 
4

(1 - x)2
tan

1 + x
1 - x

sec2
1 + x
1 - x

C. 
4

(1 + x)2
tan

1 + x
1 - x

sec
1 + x
1 - x

D. 
4

(1 - x)2
tan2

1 + x
1 - x

sec
1 + x
1 - x

Answer: B

W t h Vid S l ti

{ ( )}
( ) ( )
( ) ( )
( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_9ajbeuA5YgDf
https://dl.doubtnut.com/l/_YmPi7atAF9YC


Watch Video Solution

44. 
d
dx

cos
1 - x2

1 + x2
=

A. 
4x

1 + x2 2
sin

1 - x2

1 + x2

B. 
4x

1 - x2 2
sin

1 - x2

1 + x2

C. -
4x

1 + x2 2
sin

1 - x2

1 + x2

D. 
4x

1 - x2 2
sin2

1 - x2

1 + x2

Answer: A

Watch Video Solution

{ ( )}

( ) ( )

( ) ( )

( ) ( )

( ) ( )

https://dl.doubtnut.com/l/_YmPi7atAF9YC
https://dl.doubtnut.com/l/_CW8YlKKfoBKG


45. 
d
dx

sin2
1 - x2

1 + x2
=

A. 
4x

1 + x2 2
sin2

1 - x2

1 + x2

B. 
4x

1 - x2 2
sin

1 - x2

1 + x2

C. 
-4x

1 - x2 2
sin2

1 - x2

1 + x2

D. 
4x

1 - x2 2
sin2

1 - x2

1 + x2

Answer: C

Watch Video Solution

{ ( )}

( ) ( )

( ) ( )

( ) ( )

( ) ( )

46. 
d
dx

1 + x2

1 - x2
={√ }

https://dl.doubtnut.com/l/_vzO57UgymJ7I
https://dl.doubtnut.com/l/_NdImKQqRTx4Z


A. 
2x

1 + x2 √1 - x4

B. 
2x

1 - x2 √1 + x4

C. 
2x

1 + x2 √1 + x4

D. 
2x

1 - x2 √1 - x4

Answer: D

Watch Video Solution

( )

( )

( )

( )

47. 
d
dx

1 - cosx
1 + cosx =

Watch Video Solution

{√ }

48. 
d
dx

1 + sinx
1 - sinx ={√ }

https://dl.doubtnut.com/l/_NdImKQqRTx4Z
https://dl.doubtnut.com/l/_2YjfDkHuug2w
https://dl.doubtnut.com/l/_h0ObcGnf2dpB


A. 
1

1 + sinx

B. 
1

1 - sinx

C. 
1

1 + cosx

D. 
1

1 - cosx

Answer: B

Watch Video Solution

49. 
d
dx

sinx + cosx

√1 + sin2x
=

A. 0

B. 1

C. 2

D. 3

Answer: A

{ }

https://dl.doubtnut.com/l/_h0ObcGnf2dpB
https://dl.doubtnut.com/l/_lRzIHb0SKcIm


Watch Video Solution

50. 
d
dx

√a2 + x2 +√a2 - x2

√a2 + x2 -√a2 - x2
=

A. 
2a2

x2
1 +

a2

√a4 - x4

B. 
2a2

x3
1 +

a2

√a4 - x4

C. 1 +
a2

√a4 - x4

D. 1 -
a2

√a4 - x4

Answer: B

Watch Video Solution

{ }
{ }
{ }

51. 
d
dx

log √1 + x + √1 - x

√1 + x - √1 - x
={ ( )}

https://dl.doubtnut.com/l/_lRzIHb0SKcIm
https://dl.doubtnut.com/l/_ZNZ93RC9vf6K
https://dl.doubtnut.com/l/_Igi6i3M7mYuv


A. 
1

x√1 - x2

B. 
-1

√1 - x2

C. 
-1

x√1 - x2

D. none

Answer: D

View Text Solution

52. 
d
dx

log
√x + 1 - 1

√x + 1 + 1
+

√x

√x + 1
=

A. 
1

x√x + 1
+

1

2√x√x + 1(x + 1)

B. 
1

x√x + 1
-

2x + 1

2√x√x + 1

C. x√x + 1 - 2√x√x + 1(x + 1)

D. none

{ ( ) }

https://dl.doubtnut.com/l/_Igi6i3M7mYuv
https://dl.doubtnut.com/l/_uNoeX2AKE0en


Answer: A

Watch Video Solution

53. 
d
dx alog

a +√a2 - x2

x -√a2 - x2 =

A. 
√a2 - x2

x

B. 
-√a2 - x2

x

C. 
√a2 + x2

x

D. 
-√a2 + x2

x

Answer: B

Watch Video Solution

{ ( ) }

https://dl.doubtnut.com/l/_uNoeX2AKE0en
https://dl.doubtnut.com/l/_8TUF4wJrPdeL


54. 
d
dx

log
√x + a + √x - a

√x - b - √x - c
=

A. 
1
2

1

√x2 - a2
+

1

√(x - b)(x - c)

B. 
1

√x2 - a2
+

1
(x - b)

C. 
1

√x2 - a2
-

1

√(x - b)(x - c)

D. 
1
2

1

√x2 - a2
-

1

√(x - b)(x - c)

Answer: A

View Text Solution

{ ( )}

{ }
{ }
{ }
{ }

55. If y = logcosxsinx,  then ,
dy
dx

=

A. (cotxlogcosx + tanxlogsinx) / (logcosx)2

https://dl.doubtnut.com/l/_WNeEPN4pNhO6
https://dl.doubtnut.com/l/_7QlxobXg8l4g


B. (tanxlogcosx + cotxlogsinx) / (logcosx)2

C. cotxlogcosx + tanxlogsinx / (logsinx)2

D. none

Answer: A

Watch Video Solution

)

56. If f(x) = x - x2 + x3 - x4 + …. ∞, |x| < 1,  then f′ (x) =

A. 
1

1 + x

B. 
1

(1 + x)2

C. 
1

1 - x

D. 
1

(1 - x)2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7QlxobXg8l4g
https://dl.doubtnut.com/l/_7eWGNvxFlql2


57. 
d
dx

(x + a) x2 + a2 x4 + a4 x8 + a8 =

A. 
15x16 - 16x15a + a16

(x - a)2

B. 
x16 - x15a + a16

(x - a)2

C. 
x16 - x16

x - a

D. none

Answer: D

Watch Video Solution

{ ( )( )( )}

58. 

d
dx

(x + 1) x2 + 1 x4 + 1 x8 + 1 = 15xp - 16xq + 1 (x - 1) - 2 ⇒ (p, q) =

A. (12, 11)

B. (15, 14)

C. (16, 14)

[ ( )( )( ) ] ( )

https://dl.doubtnut.com/l/_yZEuwXTA5J6Z
https://dl.doubtnut.com/l/_Xv2r9YEqzy3f


D. (16, 15)

Answer: D

Watch Video Solution

59. If y = (1 + x) 1 + x2 . . 1 + x2n , then 
dy
dx x=0

 is equal to

A. 0

B. 
1
2

C. 1

D. 2

Answer: C

Watch Video Solution

( ) ( ) ( )

https://dl.doubtnut.com/l/_Xv2r9YEqzy3f
https://dl.doubtnut.com/l/_f3s8iLNooONM


60. If y = logax + logxa + logxx + logaa then 
dy
dx

=

A. 
1
x
+ xloga

B. 
loga
x

+
x

loga

C. 
1

xloga
+ loga

D. 
1

xloga
-

loga

x(logx)2

Answer: D

Watch Video Solution

61. f(x) = log ex
x - 2
x + 2

3 / 4
⇒ f′ (0) =

A. 1/4

B. 4

C. -3 /4

( ( ) )

https://dl.doubtnut.com/l/_lIZKgo4s85KP
https://dl.doubtnut.com/l/_bI3pg5WC95MA


D. 1

Answer: A

Watch Video Solution

62. If y = 1
1
1!

+
x2

2!
+ . .  then 

dy
dx

=

A. ex

B. 1/1 + x

C. cosx

D. none

Answer: A

View Text Solution

63. For |x| < 1 if 1 + x + x2… then 
dy
dx

=

https://dl.doubtnut.com/l/_bI3pg5WC95MA
https://dl.doubtnut.com/l/_AGC75IkHdZrX
https://dl.doubtnut.com/l/_k3ZhDhBbv0rI


A. 
1

1 - x

B. 
-1

(1 - x)2

C. 
1

(1 - x)2

D. none

Answer: C

Watch Video Solution

64. If |x| < 1 then 
d
dx

1 - 2x + 3x2 + … =

A. 
1

(1 + x)2

B. 
2

(1 + x)3

C. 
-2

(1 + x)3

D. none

Answer: C

( )

https://dl.doubtnut.com/l/_k3ZhDhBbv0rI
https://dl.doubtnut.com/l/_CiZwVO7uTgmi


Watch Video Solution

65. If|x| < 1 then 
d
dx 1 + 2x + 3x2 + … =

A. 
1

(1 - x)2

B. 
2

(1 - x)3

C. 
-2

(1 - x)3

D. 
1

(1 - x)2

Answer: B

Watch Video Solution

( )

66. If |x| < 1 then

d
dx

1 +
px
q
+
p(p + q)

2!
x
q

2
+
p(p + q)(p + 2q)

3!
x
q

+ ... =

A. p /q1/ (1 - x)p /q+1

[ ( ) ( ) ]

https://dl.doubtnut.com/l/_CiZwVO7uTgmi
https://dl.doubtnut.com/l/_keoiaUMIP4Mr
https://dl.doubtnut.com/l/_UdYQ790V5ijF


B. (p /q)1 / (1 - x)p /q

C. (1 - x)p /q - 1

D. none

Answer: A

Watch Video Solution

67. If y = exp sin2 + sin4x + sin6x + …  then 
dy
dx

=

A. etan
2
x

B. etan
2
xsec2x

C. 2etan
2
xtanxsec2x

D. none

Answer: C

Watch Video Solution

{ }

https://dl.doubtnut.com/l/_UdYQ790V5ijF
https://dl.doubtnut.com/l/_jZObAGjjmd07


68. 
d
dx

x +
x3

3
+
x5

5
+ ... =

A. 
d
dx

x +
x3

3
+
x5

5
+ ... =

B. 
1

x2 - 1

C. 
2

1 - x2

D. 
1

1 - x2

Answer: A

View Text Solution

[ ]
[ ]

69. 
d
dx

cosx0 =

A. - sinx0

B. -
π
180

sinx0

C. 
π
180

sinx0

{ }

https://dl.doubtnut.com/l/_hrne27toRhgn
https://dl.doubtnut.com/l/_g8k6QLOwKFPM


D. 
2π
180

sin0

Answer: B

Watch Video Solution

70. The derivative of sin - 12x w.r.t x is

A. 
2

4 + x2

B. -
2

1 + 4x2

C. 
2

√1 - 4x2

D. -
3

√1 - 9x2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_g8k6QLOwKFPM
https://dl.doubtnut.com/l/_lhLYvpA7x5on


71. The derivative of sec - 15xw.r.t x is

A. 
1

|x|√25x2 - 1
B. -

3

|x|√x2 - 9

C. -
1

2√x - x2

D. 2x

Answer: A

Watch Video Solution

72. The derivative of tan - 1(x /2) w.r.t x is

A. 
2

4 + x2

B. -
2

1 + 4x2

C. 
2

√1 - 4x2

https://dl.doubtnut.com/l/_3xwUBPJAqWxp
https://dl.doubtnut.com/l/_YnwIPweg2svV


D. -
3

√1 - 9x2

Answer: A

Watch Video Solution

73. The derivative of cosec - 1(x /3) w.r.t is

A. 
1

|x|√25x2 - 1
B. -

3

|x|√x2 - 9

C. -
1

2√x - x2

D. 2x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YnwIPweg2svV
https://dl.doubtnut.com/l/_mQOpVTvH5mNo


74. The derivative of sin - 1sin x2 - 2  w.r.t x is

A. 
1

|x|√25x2 - 1
B. -

3

|x|√x2 - 9

C. -
1

2√x - x2

D. 2x

Answer: D

Watch Video Solution

( )

75. The derivative os sin - 1cosx w.r.t x is

A. 0

B. 1

C. -1

https://dl.doubtnut.com/l/_AsrYFRt91Nhd
https://dl.doubtnut.com/l/_6KZYLaAz8DJi


D. 2

Answer: C

Watch Video Solution

76. If y = cot - 1 tan
π
2
- x  then 

dy
dx

=

A. x

B. 1

C. 
1

1 + x2

D. 
-1

1 + x2

Answer: B

Watch Video Solution

[ ( )]

https://dl.doubtnut.com/l/_6KZYLaAz8DJi
https://dl.doubtnut.com/l/_0W6FFI6W8yEo


77. 
d
dy

cos 2sin - 1(cosx) =

A. 2sin2x

B. 3cos2x

C. 0

D. none

Answer: A

Watch Video Solution

{ [ ]}

78. If y = sec tan - 1x ,  then 
dy
dx atx = 1 is equal to

A. 1

B. √2

C. 
1

√2

D. 
1
2

( )

https://dl.doubtnut.com/l/_nJ8owONl6Jb5
https://dl.doubtnut.com/l/_cQFL6rjjEnJ2


Answer: A

Watch Video Solution

79. 
d
dx

sec - 1ex =

A. 
1

√e2x - 1

B. 
1

ex√e2x - 1

C. 
1

ex√ex - 1

D. 
ex

√e2x - 1

Answer: A

Watch Video Solution

{ }

80. The derivative of cos h x/2 w.r.t x is

https://dl.doubtnut.com/l/_cQFL6rjjEnJ2
https://dl.doubtnut.com/l/_hj8S6ItERSuO
https://dl.doubtnut.com/l/_pDTjR7n7jDVA


A. 2sech22x

B. cosh3x

C. 
1
2
sinh

x
2

D. -5cosech25x

Answer: C

Watch Video Solution

81. The derivative of tanh - 12x w.r.t x is

A. 
1

√4 + x2

B. 
5

1 - 25x2

C. 
1

√x2 - 9

D. 
2

1 - 4x2

Answer: D

https://dl.doubtnut.com/l/_pDTjR7n7jDVA
https://dl.doubtnut.com/l/_bzOidiUIujyY


Watch Video Solution

82. The derivative of sech - 13x w.r.t x is

A. 
1

x√1 - 9x2

B. -
1

x√1 - 9x2

C. 
1

√x2 - 9

D. -
1

√x2 - 9

Answer: B

Watch Video Solution

83. The derivative of sinh - 1x /2 w.r.t x is

A. 
1

√4 + x2

B. 
5

1 - 25x2

https://dl.doubtnut.com/l/_bzOidiUIujyY
https://dl.doubtnut.com/l/_bzv9FnWepaal
https://dl.doubtnut.com/l/_fTlmDqpTEz1l


C. 
1

√x2 - 9

D. 
2

1 - 4x2

Answer: A

Watch Video Solution

84. The derivative of cos - 1√x w.r.t x is

A. 
-1

√1 - x2

B. 
1

2(1 + x)√x

C. 
-1

2√x - x2

D. 
-1

x 1 + (log|x|)2

Answer: C

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_fTlmDqpTEz1l
https://dl.doubtnut.com/l/_zJZx6BVOs2iM


85. If f(x) = ex, g(x) = sin - 1x and h(x) = f(g(x)),  then 
h′ (x)
h(x)

=

A. sin - 1x

B. 
1

√1 - x2

C. 
1

1 - x2

D. esin
- 1
x

Answer: B

Watch Video Solution

86. The derivative of tan - 1√x w.r.t x is

A. 
-1

√1 - x2

B. 
1

2(1 + x)√x

C. 
-1

2√x - x2

https://dl.doubtnut.com/l/_Oc50UDQBhhHd
https://dl.doubtnut.com/l/_Db8Wj4qhC3Sb


D. 
-1

2√1 - x2

Answer: B

Watch Video Solution

87. If y = x3sin - 1x + x2 + 2 √1 - x2,  then dy /dx =

A. sin - 1x

B. x2sin - 1x

C. 3x2sin - 1x

D. 9x2sin - 1x

Answer: D

View Text Solution

( )

https://dl.doubtnut.com/l/_Db8Wj4qhC3Sb
https://dl.doubtnut.com/l/_CgaVdFMuVTYc


88. 
d
dx

tan logtan - 1√x =

A. 
sec2logtan - 1√x

2(1 + x)√xtan - 1√x

B. 
sec2 tan - 1√x

2(1 + x)tan - 1√x

C. 
sec2 tan - 1√x

√xtan - 1√x

D. 
sec2(logx)

√xtan - 1√x

Answer: A

Watch Video Solution

{ ( )}

( )

( )

89. 
d
dθ
{sinh[logcot(π /4 + θ)]} =

A. - tan2θ

B. -2sec22θ

C. 2sec22θ

https://dl.doubtnut.com/l/_cLOADew5F9Zv
https://dl.doubtnut.com/l/_BZIlbgNDQI42


D. none

Answer: B

View Text Solution

90. If sinh - 1x + sinh - 1y = 1 then

A. 
dy
dx =

1 + y2

1 + x2

B. 
dy
dx

+
1 + y2

1 + x2

C. √1 + y2y1 +√1 + x2 = 0

D. none

Answer: B

Watch Video Solution

√ | |
√ | |

https://dl.doubtnut.com/l/_BZIlbgNDQI42
https://dl.doubtnut.com/l/_KLSbgvEXQ7Bi


91. If y =
1 - sin - 1x

1 + sin - 1x
 then y′ (0) =

A. 0

B. 1

C. -1

D. none

Answer: C

Watch Video Solution

√ | |

92. 
d
dx

cos2 tan - 1 sincot - 1 =

A. 
2

x2 + 2

B. 
2x

x2 + 2 2

{ [ ( )]}

( )

( )

https://dl.doubtnut.com/l/_Pst7OYtFtsyx
https://dl.doubtnut.com/l/_Fkc4ax0VSyUS


C. 
x2 + 1

x2 + 2

D. none

Answer: B

Watch Video Solution

93. The derivative of cosec - 1 ax w. r. t x is

A. 
loga

√a2x - 1

B. 
- loga

√a2x - 1

C. 
loga

√a2x + 1

D. 
- loga

√a2x + 1

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Fkc4ax0VSyUS
https://dl.doubtnut.com/l/_oRqQdYuWpiq3


94. 
d
dx

cot - 1
1 + x
1 - x

=

A. 
-1

√1 + x2

B. 
- loga

√1 - x2

C. 
1

1 - x2

D. 
-1

1 + x2

Answer: D

Watch Video Solution

{ ( )}

95. 
d
dx

tan - 1
1 + x
1 - x

=

A. 
1

1 + x2

B. 
1

√1 + x2

C. 
1

√1 - x2

{ ( )}

https://dl.doubtnut.com/l/_vOVUsdA28bSH
https://dl.doubtnut.com/l/_iBVlkoPv8GfH


D. 
1

1 - x2

Answer: A

Watch Video Solution

96. The deriavative of √tan - 1x w.r.t x is

A. 
1

2 1 + x2 √Tan - 1x

B. 
1

2 1 - x2 √Tan - 1x

C. 
1

2 1 + x2 Tan - 1x

D. 
1

2 1 - x2 Tan - 1x

Answer: A

Watch Video Solution

( )

( )

( )

( )

https://dl.doubtnut.com/l/_iBVlkoPv8GfH
https://dl.doubtnut.com/l/_Dc29ZZQWmYZt
https://dl.doubtnut.com/l/_wlIS2RtVoZWn


97. The derivative of √tan - 1 ex  w.r.t x is

A. 
ex

2 1 + e2x √tan - 1ex

B. 
ex

2 1 - e2x √tan - 1ex

C. 
ex

2 1 + ex √tan - 1ex

D. 
ex

2 1 - ex √tan - 1ex

Answer: A

Watch Video Solution

( )

( )

( )

( )

( )

98. The derivative of log10 sin - 1 x2  w.r.t x is

A. 
2x

log10sin - 1x2√1 + x4

B. 
2x

log10sin - 1x2√1 - x4

[ ( )]

https://dl.doubtnut.com/l/_wlIS2RtVoZWn
https://dl.doubtnut.com/l/_cD6vKk3QosHO


C. -
2x

log10sin - 1x2√1 + x4

D. -
2x

log10sin - 1x2√1 - x4

Answer: B

Watch Video Solution

99. If y = sin - 1 x2 -
1
2  then 

dy
dx atx = 0 is

A. 0

B. 1

C. -1

D. 2

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_cD6vKk3QosHO
https://dl.doubtnut.com/l/_bQoZaZHxUXe8
https://dl.doubtnut.com/l/_EfNDvDdOHeX9


100. 
d
dx cos - 1

a + bcosx
acosx + b (a < b) =

A. 
absec2x

a2 + b2tan2x

B. 
absec2x

a2 - b2tan2x

C. 
√b2 - a2

acosx + b

D. 
√b2 + a2

acosx + b

Answer: C

Watch Video Solution

{ ( )

101. 
d
dx tan - 1

btanx
a =

A. 
absec2x

a2 + b2tan2x

B. 
absec2x

a2 - b2tan2x

{ ( )}

https://dl.doubtnut.com/l/_EfNDvDdOHeX9
https://dl.doubtnut.com/l/_w30fsDMKzPng


C. 
√b2 - a2

acosx + b

D. 
√b2 + a2

acosx + b

Answer: A

Watch Video Solution

102. 
d
dx

tan - 1
a - b
a + b

tan
x
2

=

A. 
√a2 - b2

2(a + bcosx)

B. 
√a2 - b2

a + b + cosx

C. 
1

a + bcosx

D. none

Answer: A

Watch Video Solution

{ (√ | | )}

https://dl.doubtnut.com/l/_w30fsDMKzPng
https://dl.doubtnut.com/l/_wcml25LTgwmI


103. tan - 1
a + bcosx
b + acosx

=

A. 
a2 - b2 sinx

a2 + b2 1 + cos2x + 4abcosx

B. 
sinx

a2 + b2 cos2x

C. 
sinx

1 + cos2x + 4abcosx

D. none

Answer: A

Watch Video Solution

{ ( )}
( )

( ) ( )

( )

( )

104. 
d
dx

2

√a2 - b2
tan - 1

√a - b
a + b

tan(x)
2

=  `

A. a + bsinx

{ ( )}

https://dl.doubtnut.com/l/_wcml25LTgwmI
https://dl.doubtnut.com/l/_QrcQPMRWLHmt
https://dl.doubtnut.com/l/_C89DysBCOVQS


B. a + bcosx

C. 
1

a + bsinx

D. 
1

a + bcosx

Answer: D

Watch Video Solution

105. If y = Arctan
x - a
b - x

 then 
dy
dx

=

A. 
1

2√(x + a)(b + x)

B. 
1

2√(x - a)(b - x)

C. 
1

2(x + a)(b + x)

D. 
1

2(x - a)(b - x)

Answer: B

Watch Video Solution

√[ ]

https://dl.doubtnut.com/l/_C89DysBCOVQS
https://dl.doubtnut.com/l/_lNaLqKjrtdtC


106. 
d
dx

x√a2 - x2 + a2sin - 1
x
a

=

A. 2√a2 + x2

B. 2√a2 - x2

C. 2√x2 - a2

D. none

Answer: B

Watch Video Solution

{ ( )}

107. 
d
dx

x√a2 + x2 + a2sinh - 1
x
a

=

A. 2√a2 + x2

B. 2√a2 - x2

C. 2√x2 - a2

{ ( )}

https://dl.doubtnut.com/l/_lNaLqKjrtdtC
https://dl.doubtnut.com/l/_vYK943gowVpg
https://dl.doubtnut.com/l/_pYXncJaZgpC6


D. none

Answer: A

Watch Video Solution

108. 
d
dx

x√x2 - a2 - a2cosh - 1
x
a

=

A. 2√a2 + x2

B. 2√a2 - x2

C. 2√x2 - a2

D. none

Answer: C

Watch Video Solution

{ ( )}

https://dl.doubtnut.com/l/_pYXncJaZgpC6
https://dl.doubtnut.com/l/_w0ALlI80EeQf


109. If y = log
1 + x
1 - x

1 / 4
-
1
2
tan - 1(x),  then 

dy
dx

=

A. 
x

1 - x2

B. 
x2

1 - x4

C. 
x

1 + x2

D. 
x

1 - x4

Answer: B

Watch Video Solution

{( ) }

110. 
d
dx

1
6
log

(x - 1)2

x2 + x + 1
+

1

√3
tan - 1

2x + 1

√3
=

A. 
1

x3 + 1

B. 
x

x3 + 1

C. 
x

1 + x2

{ ( )}

https://dl.doubtnut.com/l/_g2qqocG8usss
https://dl.doubtnut.com/l/_mY0iYX8tfNsk


D. 
x

1 - x2

Answer: B

Watch Video Solution

111. 
d
dx

atan - 1x + blog
x - 1
x + 1

=
1

x4 - 1
⇒ a - 2b =

A. 1

B. -1

C. 0

D. 2

Answer: B

Watch Video Solution

[ ( )]

https://dl.doubtnut.com/l/_mY0iYX8tfNsk
https://dl.doubtnut.com/l/_4C7atrJjTUYX


Exercise 1 B

112. If y = 2tan - 1
x√2
1 - x2

+ log
1 + x√2 + x2

1 - x√2 + x2
then 

dy
dx

=

A. 
1

1 + x4

B. 
2

1 + x4

C. 
2√2
1 + x4

D. 
4√2
1 + x4

Answer: D

View Text Solution

( ) ( )

1. If x = at2, y = 2at then 
dy
dx

=

A. 
1
t

https://dl.doubtnut.com/l/_lpC4kupjX7Vh
https://dl.doubtnut.com/l/_ohed9GCYTIGA


B. te1

C. 
-1

t2

D. 
t e1 - sint

1 + tcost

Answer: A

Watch Video Solution

( )

2. f(x) = x2 - 1 7
⇒ f ( 14 ) (x) =

A. 0

B. 2!

C. 7!

D. 14!

Answer: D

View Text Solution

( )

https://dl.doubtnut.com/l/_ohed9GCYTIGA
https://dl.doubtnut.com/l/_MAkR42V5NvMY


3. If x = ct, y =
c
t

 then 
dy
dx

=

A. 
1
t

B. te1

C. 
-1

t2

D. 
t e1 - sint

1 + tcost

Answer: C

Watch Video Solution

( )

4. If x = θ -
1
θ , y = θ +

1
θ  then

dy
dx =

A. x /y

B. y /x

C. -x /y

https://dl.doubtnut.com/l/_MAkR42V5NvMY
https://dl.doubtnut.com/l/_yrigIdV4U4ew
https://dl.doubtnut.com/l/_TMy7gU3uVYhD


D. -y /x

Answer: A

Watch Video Solution

5. If x = asecθ, y = btanθ then 
dy
dx

=

A. 
b
a
cosecθ

B. 
-b
a
cotθ

C. 
b
a
cothθ

D. 
-b
a
tanhθ

Answer: A

Watch Video Solution

6. If x = a(t + sint), y = a(1 - cost) and
dy
dx = tanp then p =

https://dl.doubtnut.com/l/_TMy7gU3uVYhD
https://dl.doubtnut.com/l/_TsnCoDwviR15
https://dl.doubtnut.com/l/_Nfu6ZlRFEhKn


A. 
2a
y

B. 
-2

x3

C. b2x
)

a2y

D. t/2

Answer: D

Watch Video Solution

( )

7. If 
x2

a2
-
y2

b2
= 1 then 

dy
dx

=

A. 
2a
y

B. 
-2

x3

C. 
b2x

a2y

D. 
-b2x

a2t

Answer: B

https://dl.doubtnut.com/l/_Nfu6ZlRFEhKn
https://dl.doubtnut.com/l/_hqhQftlvjriD


Watch Video Solution

8. If ax2 + 2hxy + by2 = 0 then 
dy
dx

=

A. 
ax + hy
hx + by

B. 
- (ax + hy)
hx + by

C. 
ax + hy + g
hx + by + f

D. -
dx + hy + g
hx + by + f

Answer: D

Watch Video Solution

( )
( )

9. If ax2 + 2kxy + by2 + 2gx + 2fy + c = 0 then 
dy
dx

=

A. 
ax + by
hx + by

B. 
- (ax + hy)
hx + by

https://dl.doubtnut.com/l/_hqhQftlvjriD
https://dl.doubtnut.com/l/_PBP8VCeAuWrW
https://dl.doubtnut.com/l/_gRWAJPYXyZ67


C. 
ax + hy + g
hx + by + f

D. -
ax + ky + g
kx + by + f

Answer: A

Watch Video Solution

( )
( )

10. Find 
dy
dx

 if 2x2 - 3xy + y2 + x + 2y - 8 = 0.

A. 
3y - 4x - 1
2y - 3x + 2

B. 
3y + 4x + 1
2y + 3x + 2

C. 
3y - 4x + 1
2y - 3x - 2

D. 
3y - 4x + 1
2y + 3x + 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gRWAJPYXyZ67
https://dl.doubtnut.com/l/_fn7nHqoB13QH
https://dl.doubtnut.com/l/_jnmA0OEUs6df


11. 
y
x
+

x
y
= 2 ⇒

dy
dx

=

A. 
x2 + y2

x + y

B. 
x2 - y2

x + y

C. 1

D. 2

Answer: B

Watch Video Solution

√ √

12. If x3 + y3 = 3axythen 
dy
dx

=

A. 
y
x

1 / 3

B. -
y
x

1 / 3

C. 
x2 - ay

ax - y2

( )
( )

https://dl.doubtnut.com/l/_jnmA0OEUs6df
https://dl.doubtnut.com/l/_DjyTcZQWJULa


D. 
-y(2x + y)
x(x + 2y)

Answer: B

Watch Video Solution

13. If x3 + y3 = 3axythen 
dy
dx

=

A. 
y
x

1 / 3

B. -
y
x

1 / 3

C. 
x2 - ay

ax - y2

D. 
-y(2x + y)
x(x + 2y)

Answer: C

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_DjyTcZQWJULa
https://dl.doubtnut.com/l/_AYKUZBnLMScW


14. If xy(x + y) = 2 then 
dy
dx

=

A. 
y
x

1 / 3

B. -
y
x

1 / 3

C. 
x2 - ay

ax - y2

D. 
-y(2x + y)
x(x + 2y)

Answer: D

Watch Video Solution

( )
( )

15. If x - y = sin - 1x - sin - 1y then 
dy
dx

=

A. 
√y 4x√x - √y

√x 2√y + √x

B. 
√y 1 - 2√xy - y

√x 1 + 2√xy + x

( )
( )
( )
( )

https://dl.doubtnut.com/l/_EMv39oNQKO9v
https://dl.doubtnut.com/l/_A6Gsz80P9WUi


C. 
2x + 3
2y + 5

D. 
√1 - y2 -√ 1 - x2 1 - y2

√1 - x2 -√ 1 - x2 1 - y2

Answer: D

Watch Video Solution

( ) ( )
( ) ( )

16. If y = 1 + xey then 
dy
dx

=

A. 
ey

1 + xex

B. 
ey

1 - xey

C. 
ey

√1 + xey

D. 
ey

√1 - xey

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_A6Gsz80P9WUi
https://dl.doubtnut.com/l/_oG8ciLXAhG4W


17. If sin2mx + cos2ny = a2 then 
dy
dx

=

A. 
msin(2mx)
nsin(2ny)

B. 
mcos(2mx)
nsin(2ny)

C. 
mcos(2mx)
ncos(2ny)

D. 
msin(2mx)
ncos(2ny)

Answer: A

Watch Video Solution

18. If x3 - xy2 + 3y2 + 2 = 0 then 
dy
dx

=

A. 
3x2 + y2

2xy - 6y

B. 
3x2 - y2

2xy + 6y

C. 
3x2 + y2

2xy + 6y

https://dl.doubtnut.com/l/_oG8ciLXAhG4W
https://dl.doubtnut.com/l/_tW7QgSXhm0QU
https://dl.doubtnut.com/l/_l5iJ8Wz43dZv


D. 
3x2 - y2

2xy - 6y

Answer: A

Watch Video Solution

19. If 3x2 + 4xy + 2y2 + x - 8 = 0 then 
dy
dx - 1 3

=

A. 3/8

B. -5 /7

C. 5/8

D. -7 /8

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_l5iJ8Wz43dZv
https://dl.doubtnut.com/l/_TLZxlBxUFj4o


20. If xy = (x + y)n and
dy
dx

=
y
x

 then n =

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

21. If ysinx = x + y then 
dy
dx atx = 0 is

A. 1

B. -1

C. 0

D. 2

https://dl.doubtnut.com/l/_PUkQInGRzDxV
https://dl.doubtnut.com/l/_DNT1Us5hl9fJ


Answer: B

Watch Video Solution

22. If sin(x + y) = log(x + y),  then dy /dx =

A. 2

B. -2

C. 1

D. -1

Answer: D

Watch Video Solution

23. If x2 - y2 = a(x - y) and x ≠ y,  then 
dy
dx

=

A. 0

https://dl.doubtnut.com/l/_DNT1Us5hl9fJ
https://dl.doubtnut.com/l/_gjtxrAgU3ois
https://dl.doubtnut.com/l/_AgiY3oC9th45


B. 1

C. -1

D. 2

Answer: C

Watch Video Solution

24. x√1 + y + y√1 + x = 0 ⇒
dy
dx

=

A. 
1

(1 + x)2

B. 
-1

(1 + x)2

C. 
1

1 + x2

D. 
1

1 - x2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AgiY3oC9th45
https://dl.doubtnut.com/l/_MKsTWfHv7qJe


25. If 3sinxy + 4cosxy = 5 then 
dy
dx

=

A. -
y
x

B. 
3sinxy + 4cosxy
3cosxy - 4sinxy

C. 
3cosxy + 4sinxy
4cosxy - 3sinxy

D. 
x
y

Answer: A

Watch Video Solution

26. If √tany = ecos2xsinx,  then 
dy
dx =

A. sin2y(cotx - 2sin2x)

B. sin2x(coty - siny)

C. sin2ysin2x

D. cos2ycos2x

https://dl.doubtnut.com/l/_ykPliSing9HZ
https://dl.doubtnut.com/l/_0vrY9m4u1mby


Answer: A

Watch Video Solution

27. x2 + y2 = t +
1
t
, x4 + y4 = t2 +

1

t2
⇒ x3y

dy
dx

=

A. -1

B. 1

C. 0

D. 1

Answer: A

Watch Video Solution

28. 
d
dx

xx =

A. xxlogex

{ }

https://dl.doubtnut.com/l/_0vrY9m4u1mby
https://dl.doubtnut.com/l/_aOwnkDAQspec
https://dl.doubtnut.com/l/_EeXwBXDAdDND


B. xxlogx

C. xxlogxe

D. xxlogxx

Answer: A

Watch Video Solution

29. 
d
dx

x1 / x =

A. x1 / x - 2(1 + logx)

B. x1 / x - 2(1 - logx)

C. 1 + logx

D. x1 / x - 2

Answer: B

Watch Video Solution

{ }

https://dl.doubtnut.com/l/_EeXwBXDAdDND
https://dl.doubtnut.com/l/_QMDhtZ43s2z2


30. The derivative of (ax + b)cx+dw.r.t x is

A. (ax + b)cx+d
a(cx + d)
ax + b

+ clog(ax + b)

B. (ax - b)cx+d
a(cx + d)
ax + b

+ clog(ax ± b)

C. (ax - b)cx+d
a(cx + d)
ax + b

+ clog(ax - b)

D. (ax - b)cx+d
a(cx + d)
ax + b

+ clog(ax + b)

Answer: A

Watch Video Solution

[ ]
[ ]
[ ]
[ ]

31. The derivative of (logx)4 w.r.t x is

A. (logx)x - 1[1 + logxlog(logx)]

B. (logx)x - 1[1 - logxlog(logx)]

C. - (, ogx)x - 1[1 - logxlog(logx)]

https://dl.doubtnut.com/l/_UqVdqnx1JjgT
https://dl.doubtnut.com/l/_Ma9T1VHGzM43


D. - (logx)x - 1[1 - logxlog(logx)]

Answer: A

Watch Video Solution

32. The derivative of 

(sinx)x w.r.t is

A. (sinx)x[xcotx + logsinx]

B. (sinx)x[xcotx - logsinx]

C. - (sinx)x[xcotx + logsinx]

D. - (sinx)x[xcotx - logsinx]

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ma9T1VHGzM43
https://dl.doubtnut.com/l/_KD7jIf0urUe3


33. The derivative of xx
x
 w.r.t x is

A. xx
x
x ( x - 1 ) [1 - xlogx(1 + logx)]

B. xx
x
x ( x - 1 ) [1 + xlogx(1 - logx)]

C. xx
x
x ( x - 1 ) [1 + xlogx(1 + logx)]

D. xx
x
x ( x - 1 ) [1 - xlogx(1 - logx)]

Answer: C

View Text Solution

34. The derivative of xa
x
 w.r.t x is

A. xa
x
ax[1 /x + logalogx]

B. xa
x
ax[1 /x - logalogx]

C. xa
x
ax[x + logalogx]

D. xa
x
ax[x - logalogx]

https://dl.doubtnut.com/l/_hRxICYqLLoN2
https://dl.doubtnut.com/l/_kOyeZpyxPUWT


Answer: A

View Text Solution

35. The derivative of xlog ( logx )  w.r.t x is

A. xlog ( logx ) + 1[1 + log(logx)]

B. xlog ( logx ) + 1[1 - log(logx)]

C. xlog ( logx ) - 1[1 + log(logx)]

D. xlog ( logx ) + 1[1 + log(logx)]

Answer: C

Watch Video Solution

36. The derivative of xsinx w.r.t is

A. xsinx ( - 1 ) [sinx + xcosxlogx]

https://dl.doubtnut.com/l/_kOyeZpyxPUWT
https://dl.doubtnut.com/l/_5M26VlhNuREz
https://dl.doubtnut.com/l/_dTBMKB4z3DaN


B. xsinx ( - 1 ) [sinx - xcosxlogx]

C. xsinx ( + 1 ) [sinx + xcosxlogx]

D. xsinx ( + 1 ) [sinx - xcosxlogx]

Answer: A

Watch Video Solution

37. The derivative of (sinx)cosx(0 < x < π) w.r.t is

A. (sinx)cotx[cosxcotx + sinxlogsinx]

B. (sinx)cotx[cosxcotx - sinxlogsinx]

C. (sinx)cosx[cosxcotx + sinxlogsinx]

D. (sinx)cosx[cosxcotx - sinxlogsinx]

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dTBMKB4z3DaN
https://dl.doubtnut.com/l/_G9FYi3vhIeq4


38. The derivative of xlogx w.r.t x is

A. logx. x ( logx ) + 1

B. logx. x ( logx ) - 1

C. 2logx. x ( logx ) + 1

D. 2logx. x ( logx ) - 1

Answer: D

Watch Video Solution

39. If y = x2 + 1 sinx then y′ (0) =

A. 1/2

B. e2

C. 0

D. 3/2

( )

https://dl.doubtnut.com/l/_ekIm5YbNiqH3
https://dl.doubtnut.com/l/_Gk34eVQSuj1i


Answer: C

Watch Video Solution

40. y = xsinx + (sinx)x then 
dy
dx

=

A. xsinx
sinx
x

+ cosxlogx + (sinx)x(xcotx + logsinx)

B. xsinx
sinx
x

+ cosxlogx + (sinx)x(xcotx - logsinx)

C. xsinx(xcosec - cosxlogx) + (sinx)x(xcotx + logcosx)

D. xsinx(xcosx - sinxlogx) + (sinx)x(xcotx + logsinx)

Answer: A

Watch Video Solution

( )
( )

41. The derivative of (cotx)sinx + (tnax)cosx w.r.t x is

https://dl.doubtnut.com/l/_Gk34eVQSuj1i
https://dl.doubtnut.com/l/_hiS57UcMp3xz
https://dl.doubtnut.com/l/_px60n0t6GprR


A. (cotx)sinx[secx + cosxlogcotx] + (tanx)cosx[cosecx - sinxlogtanx]

B. (cotx)sinx[ - secx + cosxlogcotx] + (tanx)cosx[cosecx + sinxlogtanx]

C. (cotx)sinx[secx - cosxlogcotx] + (tanx)cosx[cosecx - sinxlogtanx]

D. (cotx)sinx[ - secx + cosxlogcotx] + (tanx)cosx[cosecx - sinxlogtanx]

Answer: D

Watch Video Solution

42. Let y be an implicit functio of x defined by x2x - 2xxcoty - 1 = 0.  Then

y′ (1) equals

A. 1

B. log 2

C. - log2

D. -1

Answer: D

https://dl.doubtnut.com/l/_px60n0t6GprR
https://dl.doubtnut.com/l/_vTLzEW80eplf


View Text Solution

43. The derivative of sinxsin2xsin3xw.r.t x is

A. sinxsin2xsin3x[cotx + 2cot2x + 3cot3x]

B. sinxsin2xsin3x[cotx + 2cot2x - 3cot3x]

C. sinxsin2xsin3x[cotx - 2cot2x + 3cot3x]

D. sinxsin2xsin3x[cotx - 2cot2x - 3cot3x]

Answer: A

Watch Video Solution

44. If y =
(3x - 5)2 / 3 x2 + 1

3 / 2

(2x + 3)3 / 2 3x2 - 1
1 / 3

 then 
dy
dx

=

A. y
2

3x - 5
+

3x

x2 + 1
-

3
2x + 3

-
2x

3x2 - 1

{ ( )
( ) }

[ ]

https://dl.doubtnut.com/l/_vTLzEW80eplf
https://dl.doubtnut.com/l/_88kj9nqG8FWK
https://dl.doubtnut.com/l/_ADAPdj8QgVsK


B. 
2

3x - 5
+

3x

x2 + 1
-

5
2x + 3

+
2x

3x2 - 1

C. 
2

3x - 5
-

3x

x2 + 1
-

5
2x + 3

+
2x

3x2 - 1

D. 
2

3x - 5
+

3x

x2 + 1
+

5
2x + 3

-
2x

3x2 - 1

Answer: A

Watch Video Solution

[ ]
[ ]
[ ]

45. The derivative of sin - 12x√1 - x2 w.r.t x is

A. 
-2

√1 - x2

B. 
2

√1 - x2

C. 
-3

√1 - x2

D. 
3

√1 - x2

https://dl.doubtnut.com/l/_ADAPdj8QgVsK
https://dl.doubtnut.com/l/_c7jVjptZOUJi


Answer: B

Watch Video Solution

46. The derivative of cos - 1 2x2 - 1  w.r.t x is

A. 
-2

√1 - x2

B. 
2

√1 - x2

C. 
-3

√1 - x2

D. 
3

√1 - x2

Answer: A

Watch Video Solution

( )

47. 
d
dx

cos - 1
1 - x2

1 + x2
={ }

https://dl.doubtnut.com/l/_c7jVjptZOUJi
https://dl.doubtnut.com/l/_ZCiJLtNAdWsC
https://dl.doubtnut.com/l/_9p5QldjCL8ye


A. 
2

1 + x2

B. 
-2

√1 - x2

C. 
1

√1 - x2

D. 
2

√1 - x2

Answer: A

Watch Video Solution

48. If y =
sin - 1 1 - x2

1 + x2
 then 

dy
dX

=

A. 
-2

1 + x2

B. 
2

1 + x2

C. 
1

1 + x2

D. 
-1

1 + x2

( )

https://dl.doubtnut.com/l/_9p5QldjCL8ye
https://dl.doubtnut.com/l/_e4IMXgvuAyi8


Answer: A

Watch Video Solution

49. 
d
dx

sin - 1 3x - 4x3 =

A. 
1

√1 - x2

B. 
2

√1 - x2

C. 
3

√1 - x2

D. 
3

√1 + x2

Answer: C

Watch Video Solution

{ ( )}

50. The derivative of cos - 1 4x3 - 3x  w.r.t x is( )

https://dl.doubtnut.com/l/_e4IMXgvuAyi8
https://dl.doubtnut.com/l/_Ypvup3SBvGnm
https://dl.doubtnut.com/l/_iV4UDfBHuhhw


A. 
1

√1 - x2

B. 
2

√1 - x2

C. 
-3

√1 - x2

D. 
3

√1 - x2

Answer: C

Watch Video Solution

51. 
d
dx

sin - 1
5x + 12√1 - x2

12
=

A. 
1

√1 - x2

B. 
1

√1 + x2

C. 
-1

√1 + x2

D. 
-1

√1 - x2

{ ( )}

https://dl.doubtnut.com/l/_iV4UDfBHuhhw
https://dl.doubtnut.com/l/_DI5SrzhSjp6i


Answer: A

Watch Video Solution

52. 
d
dx

tan - 1
√x + √a
1 - √ax

=

A. 
1

2√x(1 + x)

B. 
-1

2√x(1 + x)

C. 
2

√x(1 + x)

D. 
-2

√x(1 + x)

Answer: A

Watch Video Solution

{ }

53. 
d
dx

cos - 1
x2n - 1

x2n + 1
={ }

https://dl.doubtnut.com/l/_DI5SrzhSjp6i
https://dl.doubtnut.com/l/_eewtkSqRw4ey
https://dl.doubtnut.com/l/_8iohFj3EKpVM


A. (2nxn - 1
)

x2n + 1

B. 
2nxn

xn - 1

C. 
-2nxn - 1

x2n+1

D. 
2nxn - 1

x2n - 1

Answer: C

Watch Video Solution

54. 
d
dx

cos - 1
x - x - 1

x + x - 1
=

A. 
2

x + 1

B. 
-2

x2 + 1

C. 
-2

x + 1

D. 
2

x2 + 1

Answer: B

{ }

https://dl.doubtnut.com/l/_8iohFj3EKpVM
https://dl.doubtnut.com/l/_Slj1Vt6HXroM


Watch Video Solution

55. 
d
dx

sin2cot - 1
√1 + x

1 - x
=

A. 0

B. 1/2

C. -1 /2

D. -1

Answer: C

Watch Video Solution

{ }

56. 
d
dx

sin - 1
3x
2
-
x3

2
=

A. 
3

√4 - x2

{ ( )}

https://dl.doubtnut.com/l/_Slj1Vt6HXroM
https://dl.doubtnut.com/l/_fPHl58NT9LvU
https://dl.doubtnut.com/l/_SOtW7SojahyR


B. 
-3

√4 - x2

C. 
1

√4 - x2

D. 
-1

√4 - x2

Answer: A

Watch Video Solution

57. 
d
dx cos - 1

4x3

27 - x =

A. 
3

√9 - x2

B. 
1

√9 - x2

C. 
-3

√9 - x2

D. 
-1

√9 - x2

Answer: C

{ ( )}

https://dl.doubtnut.com/l/_SOtW7SojahyR
https://dl.doubtnut.com/l/_FwG0bfAfGfrp


Watch Video Solution

58. 
d
dx

cos - 1
1 + x
2

=

A. 
-1

2√1 - x2

B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: A

Watch Video Solution

{ (√ )}

59. 
d
dx

sin - 1
1 - x
2

=

A. 
-1

2√1 - x2

{ (√ }

https://dl.doubtnut.com/l/_FwG0bfAfGfrp
https://dl.doubtnut.com/l/_HynGWYozgnbZ
https://dl.doubtnut.com/l/_lXsOHnWZL3zx


B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: A

Watch Video Solution

60. 
d
dx

sin - 1
x

√1 + x2
=

A. 
-2

2√1 - x2

B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: B

{ }

https://dl.doubtnut.com/l/_lXsOHnWZL3zx
https://dl.doubtnut.com/l/_BFdoTAu12rf8


Watch Video Solution

61. 
d
dx sin - 1

2x

1 + x2
=

A. 
-2

2√1 - x2

B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: C

Watch Video Solution

{ }

62. 
d
dx

tan - 1
2x

1 - x2
=

A. 
-2

2√1 - x2

{ }

https://dl.doubtnut.com/l/_BFdoTAu12rf8
https://dl.doubtnut.com/l/_Cj7HEMr9mJNd
https://dl.doubtnut.com/l/_yQdVI1zpun1L


B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: C

Watch Video Solution

63. 
d
dx

sec - 1
1

1 - 2x2
=

A. 
-1

2√1 - x2

B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: D

h id l i

{ }

https://dl.doubtnut.com/l/_yQdVI1zpun1L
https://dl.doubtnut.com/l/_Jkwpt3p31U6A


Watch Video Solution

64. 
d
dx

tan - 1
x2

a2 - x2
=

A. 
1

√a2 - x2

B. 
1

a2 + x2

C. 
1

1 + x2

D. 
2

√1 - x2

Answer: D

Watch Video Solution

{ (√ )}

65. 
d
dx

tan - 1
x - a
1 + ax

=

A. 
-1

2√1 - x2

{ ( )}

https://dl.doubtnut.com/l/_Jkwpt3p31U6A
https://dl.doubtnut.com/l/_IwfOGqkPURcu
https://dl.doubtnut.com/l/_daxKliDDP655


B. 
1

1 + x2

C. 
2

1 + x2

D. 
2

√1 - x2

Answer: B

Watch Video Solution

66. 
d
dx

tan - 1 √1 + x2 - 1

x =

A. 
1

2 1 +x
2

B. 
-1

2√1 - x2

C. 
3

1 + x2

D. 
1

2√1 - x2

Answer: A

{ ( )}
( )

https://dl.doubtnut.com/l/_daxKliDDP655
https://dl.doubtnut.com/l/_aORevoDjuxiS


Watch Video Solution

67. tan - 1
3x - x3

1 - 3x2
=

A. 
1

2 1 + x2

B. 
-1

2√1 - x2

C. 
3

1 + x2

D. 
1

2√1 - x2

Answer: C

Watch Video Solution

( )
( )

68. 
d
dx

tan - 1
√1 - x
1 + x

={ }

https://dl.doubtnut.com/l/_aORevoDjuxiS
https://dl.doubtnut.com/l/_CAuV1kUioSk5
https://dl.doubtnut.com/l/_gGn2XCYQ5oLZ


A. 
1

2(1 + x)2

B. 
-1

2√1 - x2

C. 
3

1 + x2

D. 
1

2√1 - x2

Answer: B

Watch Video Solution

69. 
d
dx

tan - 1
x

1 - x
=

A. 
1

2 2 + x2

B. 
-1

2√x - x2

C. 
3

x + x2

D. 
1

2√1 - x2

{ √[ ]}
( )

https://dl.doubtnut.com/l/_gGn2XCYQ5oLZ
https://dl.doubtnut.com/l/_yCmmbIN3sPfc


Answer: D

Watch Video Solution

70. 
d
dx tan - 1

x

1 +√1 - x2
=

A. 
1

2 1 + x2

B. 
2

√1 - x2

C. 
3

1 + x2

D. 
1

2√1 - x

Answer: D

Watch Video Solution

{ ( )}
( )

https://dl.doubtnut.com/l/_yCmmbIN3sPfc
https://dl.doubtnut.com/l/_CZdtoJoQ9uAq


71. 
d
dx tan - 1

x

1 -√1 + x2
=

A. 
-1

2 1 + x2

B. 
2

√1 - x2

C. 
3

1 + x2

D. 
1

2 1 + x2

Answer: D

Watch Video Solution

{ ( )}
( )

( )

72. 
d
dx tan - 1

x - x1 / 2

1 + x3 / 2
=

A. 
1

1 + x2
-

1

2(1 + x)√x

B. 
1

2√1 + x2

{ ( )}

https://dl.doubtnut.com/l/_aCRj1qudns7Y
https://dl.doubtnut.com/l/_pUSCwEFySlsU


C. 
1

√1 + x2

D. 
1

2√1 - x2

Answer: A

Watch Video Solution

73. 
d
dx

tan - 1
√1 + x2 +√1 - x2

√1 + x2 -√1 - x2
=

A. 
1

1 + x2
-

1

2(1 + x)√x

B. 
-x

√1 - x4

C. 
1

√1 + x2

D. 
1

2√1 - x2

Answer: B

Watch Video Solution

{ }

https://dl.doubtnut.com/l/_pUSCwEFySlsU
https://dl.doubtnut.com/l/_yBOjd6Igwbia


74. The derivative of tan - 1
2x

1 - x2
 w.r.t cos - 1

1 - x2

1 + x2
 is

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

75. The derivative of Arctan
2x

1 - x2
w. r. t. Arcsin

2x

1 + x2
 is

A. 0

B. 1

C. 2

https://dl.doubtnut.com/l/_yBOjd6Igwbia
https://dl.doubtnut.com/l/_MAqwu6PrNWmO
https://dl.doubtnut.com/l/_dnlMA3MWOSuF


D. 3

Answer: B

Watch Video Solution

76. The derivative of tan - 1
√1 + x2 - 1

x
 w.r.t.tan - 1x is

A. 0

B. 1

C. 2

D. +1/2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dnlMA3MWOSuF
https://dl.doubtnut.com/l/_4PWzT7xd7lfd


77. The derivative of cos - 1
1 - x2

1 + x2
w. r. t. tan - 1

2x

1 - x2
 is

A. 0

B. 1

C. 2

D. 1/2

Answer: B

Watch Video Solution

78. The derivative of sin - 1
2x

1 + x2
w. r. ttan - 1

2x

1 - x2
 is

A. 0

B. 1

C. -1

D. 2

https://dl.doubtnut.com/l/_dANGJkPiM5UE
https://dl.doubtnut.com/l/_JUt12pbL1Jkh


Answer: B

Watch Video Solution

79. The derivative of cos - 1 2x2 - 1 w. r. t. cos - 1x is

A. 2

B. 
2
x

C. 
2

2√1 - x2

D. √1 - x2

Answer: A

Watch Video Solution

( )

80. The derivative of sec - 1
1

2x2 - 1
w. r. t. √1 + 3xatx = -

1
3

 is

https://dl.doubtnut.com/l/_JUt12pbL1Jkh
https://dl.doubtnut.com/l/_8nu4UODrPbAf
https://dl.doubtnut.com/l/_q26S7L5qMWHB


A. 0

B. 1

C. 1/2

D. -2 /3

Answer: A

Watch Video Solution

81. The derivative of tan - 1
√1 + x2 - 1

x
w. r. t. tan - 1

2x√1 - x2
1 - 2x2

atx = 0 is

A. 1

B. 1/2

C. 1/4

D. 1/8

Answer: D

https://dl.doubtnut.com/l/_q26S7L5qMWHB
https://dl.doubtnut.com/l/_9fQJFd8PY9mH


Watch Video Solution

82. The derivative of sin - 1 3x - 4x3 w. r. t. tan - 1
x

√1 - x2
 is

A. 0

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

( )

83. If y = √sinx + y then 
dy
dx

=

A. 
cosx
y - 1

B. 
cosy
x - 1

https://dl.doubtnut.com/l/_9fQJFd8PY9mH
https://dl.doubtnut.com/l/_As2h6eVcw6ho
https://dl.doubtnut.com/l/_8Vef6uwXaN8a


C. 
cosx
2y - 1

D. 
cosy
2x - 1

Answer: C

Watch Video Solution

84. If y = √cosx + y thnd 
dy
dx

=

A. 
sinx
y - 1

B. 
siny
1 - x

C. 
sinx
1 - 2y

D. 
siny
2x - 1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8Vef6uwXaN8a
https://dl.doubtnut.com/l/_mVncf7XTqAwL
https://dl.doubtnut.com/l/_qHxqGMffgINQ


85. If siny = xsin(α + y) then 
dy
dx =

A. 
sinα

sin2(α + y)

B. 
sin2(α + y)

sinα

C. sinαsin2(α + y)

D. 
sin2(α - y)

sinα

Answer: B

Watch Video Solution

86. If cosy = xcos(a + y) then 
dy
dx

=

A. 
sin2(a + y)

sina

B. 
cos2(a - y)

sina

C. 
sin2(a + y)

sina

D. 
cos2(a + y)

sina

https://dl.doubtnut.com/l/_qHxqGMffgINQ
https://dl.doubtnut.com/l/_ZB73kJd9qFED


Answer: D

Watch Video Solution

87. If cos - 1
x2 - y2

x2 + y2
= k (a constnat), then 

dy
dx

=

A. 
y
x

B. 
x
y

C. 
x2

y2

D. 
y2

x2

Answer: A

Watch Video Solution

( )

88. If √1 + x2 +√1 + y2 = a(x - y) then 
dy
dx

=

https://dl.doubtnut.com/l/_ZB73kJd9qFED
https://dl.doubtnut.com/l/_wIYaEuJYjdKB
https://dl.doubtnut.com/l/_mkztE0w08n6j


A. 
√1 + y2

√1 + x2

B. 
√1 + x2

√1 + y2

C. 0

D. 1

Answer: A

Watch Video Solution

89. If √1 - x2 +√1 - y2 = a(x - y) then 
dy
dx

=

A. 
√1 + y2

√1 + x2

B. 
√1 + x2

√1 + y2

C. 
√1 - y2

√1 + x2

https://dl.doubtnut.com/l/_mkztE0w08n6j
https://dl.doubtnut.com/l/_9uudEO4tV8AZ


D. 
√1 - y2

√1 - x2

Answer: D

Watch Video Solution

90. If y = xy then 
dy
dx

=

A. 
y2

x(1 + logy)

B. 
y2

x(1 - logy)

C. 
y

x2(1 + logy)

D. 
y

x2(1 - logy)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9uudEO4tV8AZ
https://dl.doubtnut.com/l/_nZZWXGfShtQF


91. If xy = ex - y then 
dy
dx

=

A. 
1

(1 + logy)

B. 
logx

(1 + logx)2

C. 
log

1 + logx

2

D. 
(logx)2

1 + logy

Answer: A

Watch Video Solution

( )

92. If xy = logx then 
dy
dx

atx = e is

A. 0

B. 1

C. e

D. 1/e

https://dl.doubtnut.com/l/_p5kESRe21Ufb
https://dl.doubtnut.com/l/_HOoDStHYVn9d


Answer: C

Watch Video Solution

93. xy = yx ⇒ x(x - ylogx)
dy
dx

=

A. y(y - xlogy)

B. y(y + xlogy)

C. x(x + ylogx)

D. x(y - xlogy)

Answer: A

Watch Video Solution

94. 
d
dx

ex
e
+ xe

x
+ ex

x
={ }

https://dl.doubtnut.com/l/_HOoDStHYVn9d
https://dl.doubtnut.com/l/_BPcTnOYghmX1
https://dl.doubtnut.com/l/_R8z7Z57YVJ74


A. ex
e
+ xe

x
+ ex

x

B. x2ex
e
+ exxe

x
+ xx + ex

x

C. eex
e
xe - 1 + xe

x 1
x
+ logx + ex

x
xx(1 + logx)

D. none

Answer: D

View Text Solution

( )

95. If (cosx)y = (siny)x then 
dy
dx

=

A. 
logsiny + ytanx
logcosx - xcoty

B. 
logsiny - ytanx
logcosx + coty

C. 
logsiny
logcosx

D. 
logcosx
logsiny

Answer: A

https://dl.doubtnut.com/l/_R8z7Z57YVJ74
https://dl.doubtnut.com/l/_r4WKE7Iy94Sr


Watch Video Solution

96. If y = x + √x + √x + .... . ∞then 
dy
dx =

A. 
1
y

B. 
1
x

C. 
1

2x - 1

D. 
1

2y - 1

Answer: D

Watch Video Solution

√

97. If y = tanx + √tanx + √tan + .... ∞ then 
dy
dx

=

A. 
cos2x
2y - 1

B. 
sec2x
2y - 1

√

https://dl.doubtnut.com/l/_r4WKE7Iy94Sr
https://dl.doubtnut.com/l/_WrMKasNCdpks
https://dl.doubtnut.com/l/_LNdN76VgMoTX


C. 
tanx
2y - 1

D. 
cotx
2y - 1

Answer: B

Watch Video Solution

98. If y = sinx + √sinx + √sinx + .... ∞ then 
dy
dx

A. 
cosx
y - 1

B. 
cosy
x - 1

C. 
cosx
2y - 1

D. 
cosy
2x - 1

Answer: C

Watch Video Solution

√

https://dl.doubtnut.com/l/_LNdN76VgMoTX
https://dl.doubtnut.com/l/_cYZdX7NPl0im
https://dl.doubtnut.com/l/_0uDj7UTH55XO


99. If y = xx
x ... ... . ∝

 then 
dy
dx =

A. 
y2

x(1 + ylogx)

B. 
y2

x(1 - logy)

C. 
y

x(1 + ylogx)

D. 
y

x(1 - logy)

Answer: B

Watch Video Solution

100. If y = (sinx) ( sinx )
( sinx ) ... ∞

,  then 
dy
dx

=

A. 
y2

sinx[1 - logy]

B. 
y2sinx
1 - logy

C. 
y2cotx
1 - logy

D. 
y2tanx
1 - logy

https://dl.doubtnut.com/l/_0uDj7UTH55XO
https://dl.doubtnut.com/l/_3iUZ0u3eXS8z


Answer: C

Watch Video Solution

101. If y = ex+ e
x+ ex ... ∞

,  then 
dy
dx

=

A. y

B. 
1
y

C. 
1

1 - y

D. 
y

1 - y

Answer: D

Watch Video Solution

102. If x = ey+ e
y+ ... 10∞

, x > 0,  then 
dy
dx  is

A. 
x

1 + x

https://dl.doubtnut.com/l/_3iUZ0u3eXS8z
https://dl.doubtnut.com/l/_70qBeftd1xr1
https://dl.doubtnut.com/l/_tliuinnoKAq0


B. 
1 + x
x

C. 
1 - x
x

D. 
1
x

Answer: C

Watch Video Solution

103. If y = x +
1

x +
1

x+ ... ∞

 then 
dy
dx

 =`

A. 
y

2y - x

B. 
y

x + 2y

C. 
y

x - 2y

D. y

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tliuinnoKAq0
https://dl.doubtnut.com/l/_duohgtdRmPs6


104. If y = √x√x
√x ... ∞

,  then 
dy
dx

=

A. 
-y2

x(2 - ylogx)

B. 
-y2

2 + ylogx

C. 
y2

2 - ylogx

D. 
y2

x(2 - ylogx)

Answer: D

Watch Video Solution

105. If y = ax
ax

ax ... ∞

 then 
dy
dx

=`

A. 
y2logy

x(1 - ylogxlogy)

B. 
logy

1 - logx

C. 
logx

1 + ylogy

https://dl.doubtnut.com/l/_duohgtdRmPs6
https://dl.doubtnut.com/l/_jB0kGVpRYCIb
https://dl.doubtnut.com/l/_fa7U4OK1Yii8


D. none

Answer: A

Watch Video Solution

106. If y = x ^(2) + (1)/(x ^(2) + (1)/( x ^(2) +...oo)),then(dy)/(dx) =`

A. 
2xy2

y2 + 1

B. 
2xy

y2 + 1

C. 
2x

y2 + 1

D. 
2

y2 + 1

Answer: A

Watch Video Solution

107. If x < 1, then 
1

x + 1
+

2x

1 + x2
+

4x3

1 + x4
+ …. ∞ =

https://dl.doubtnut.com/l/_fa7U4OK1Yii8
https://dl.doubtnut.com/l/_YjN6imNoPHTT
https://dl.doubtnut.com/l/_zRlHMzCm10HZ


A. x

B. 
1

1 + x

C. 
1

1 - x

D. 
1
x

Answer: C

Watch Video Solution

108. If < 1 then 
1 - 2x

1 - xx2
+

2x - 4x3

1 - x2 + x4
+
4x3 - 8x7

10x4 + x8
+ …∞ =

A. 
1 + 2x

1 + 1 + x2

B. 
1 - 2x

1 + x + x2

C. 
(1 + 2x)2

1 + x + x2

D. 
(1 + 2x)3

1 + x + x2

Answer: A

https://dl.doubtnut.com/l/_zRlHMzCm10HZ
https://dl.doubtnut.com/l/_GNKuXIQyvjXB


View Text Solution

109. If f(x) = x2 +
x2

1 + x2
+

x2

1 + x2
+ … + x2 1 + x2 + … then 

x = 0

A. f(x) has no limit

B. f(x) is discotinous

C. f(x) is continous but not differentiable

D. f(x) is differentiable

Answer: B

View Text Solution

( ) ( )
( (( )

110. f(x) = (cosx)(cos2x)…(cosnx) ⇒ f′ (x) +

n

∑ (rtanrx)f(x) =

A. f(x)

https://dl.doubtnut.com/l/_GNKuXIQyvjXB
https://dl.doubtnut.com/l/_CmqTlJ6J0c58
https://dl.doubtnut.com/l/_4syp8bJ4Nqc2


B. 0

C. - f(x)

D. 2f(x)

Answer: B

Watch Video Solution

111. If y = sin
x
2
sin

x2

22
. sin

x3

23
.... . sin

xn

2n
 then 

dy
dx

=

A. y
1
2

tan
x
2
+ tan

x2

22
+ .... +

nxn - 1

xn
tan

xn

2n

B. 
1
2

tan
x
2
+

x
2

tan
x2

22
+ .... +

nxn - 1

2n
tan

xn

2n

C. y
1
2

cot
x
2
+

x
2

cot
x2

22
+ ... . . +

nxn - 1

2n
cot

xn

2n

D. 
1
2

cot
x
2

x
2

cot
x
2
+ .... +

nxn - 1

2n
cot

xn

2n

Answer: C

{ }
( )
( ) ( )
{( ) ( ) ( ) }
( ) ( )

https://dl.doubtnut.com/l/_4syp8bJ4Nqc2
https://dl.doubtnut.com/l/_PfRHibckAb38


Watch Video Solution

112. If cos
x
2
cos

x

22
…. cos

x

2n
=

sinx

2nsin x /2n
 then 

1

22
sec2

x
2
+

1

24
ec2

x

22
….

1

22n
sec2

x

2n
=

A. 
1

22n
coec2

x

2n
+ cosec2x2

B. -
1

22n
coec2

x

2n
+ cosec2x2

C. cosec2
x

2n
+ cosec2x

D. none

Answer: B

View Text Solution

( )

( ) ( ) ( )
( )
( )

https://dl.doubtnut.com/l/_PfRHibckAb38
https://dl.doubtnut.com/l/_fIkS2TZOb2pk


113. If sinθsin(2α + θ)sin(4α + θ)...sin(2(n - 1)α + θ) =
sinnθ

2n - 1
 where 2nα = π

then cot(θ) + cot(2α + θ) + cot(4α + θ) + ....... + cot(2n - 1)α + θ) =

A. 2ncotnθ

B. 4ntannθ

C. 3cotnθ

D. none

Answer: C

Watch Video Solution

114. If

Y = tan - 1
1

1 + x + x2
+ tan - 1

1

x2 + 3x + 3
+ tan - 1

1

x2 + 5x + 7
+ …. +

upto n term then y1(0) =

A. -1 n2 + 1

( ) ( ) ( )

( )

https://dl.doubtnut.com/l/_2ldQ9gPR1u6Z
https://dl.doubtnut.com/l/_lhtcxj7KjcYN


Exercise 1 C

B. -n2 / n2 + 1

C. n2 / n2 + 1

D. none

Answer: C

Watch Video Solution

( )
( )

1. The function y = sin - 1(cosx) is not differentiable at

A. x = π

B. x = π /2

C. x = 0

D. x = π /4

Answer: A

https://dl.doubtnut.com/l/_lhtcxj7KjcYN
https://dl.doubtnut.com/l/_RsFIEQpFruu1


Watch Video Solution

2. The function f(x) = sin - 1(tanx) is not differentiable at

A. x = 0

B. x = - π /6

C. x = π /6

D. x = π /4

Answer: D

Watch Video Solution

3. The set of all points where at tunction f(x) = √1 - e - x is

differentiable is

A. (0, ∞)

https://dl.doubtnut.com/l/_RsFIEQpFruu1
https://dl.doubtnut.com/l/_PzM0m9vvtplc
https://dl.doubtnut.com/l/_56nfEB6L9jHB


Exercise 1 D

B. ( - ∞, ∞)

C. ( - ∞, 0) ∪ (0, ∞)

D. ( - ∞, 0)

Answer: C

View Text Solution

1. y = sin - 1x ⇒ 1 - x2
d2y

dx2
=

A. -x
dy
dx

B. 0

C. x
dy
dx

D. 
dy
dx

2

( )

( )

https://dl.doubtnut.com/l/_56nfEB6L9jHB
https://dl.doubtnut.com/l/_aivUu4XLjfb0


Answer: C

Watch Video Solution

2. If y = cos 3cos - 1x  then 
dy

dx3
=

A. 6

B. 24

C. 3

D. 0

Answer: B

Watch Video Solution

( )

3. y = sin msin - 1x ⇒ 1 - x2 y2 - xy1 =

A. m2y

( ) ( )

https://dl.doubtnut.com/l/_aivUu4XLjfb0
https://dl.doubtnut.com/l/_ify3jYee1ac1
https://dl.doubtnut.com/l/_0oRxeQFrzfmT


B. -m2y

C. 2m2y

D. -2m2y

Answer: B

Watch Video Solution

4. If y = sin 7sin - 1x  then 1 - x2 y2 - xy1 =

A. -49y

B. -7y

C. 49y

D. 7y

Answer: A

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_0oRxeQFrzfmT
https://dl.doubtnut.com/l/_tDdoVi4ifH7w


5. If y = tan - 1
cosx - sinx
cosx + sinx

 then 
d2y

dx2
=

A. 0

B. sinx

C. cosx

D. -1

Answer: A

Watch Video Solution

( )

6. If y = xn - 1logx,  then xy1 =

A. (n - 1)y + xn - 1

B. -1

C. 1

D. none

https://dl.doubtnut.com/l/_NUOqDoZ148HA
https://dl.doubtnut.com/l/_1fNDIodoqtRu


Answer: A

Watch Video Solution

7. If y = logsinx then y2 =

A. 
1

cosecx

B. -cosecxcotx

C. -cosec2x

D. cosec2x

Answer: C

Watch Video Solution

8. If y =
logx
x

 then y1(1) =

A. -3

https://dl.doubtnut.com/l/_1fNDIodoqtRu
https://dl.doubtnut.com/l/_cyHHhja2w23J
https://dl.doubtnut.com/l/_hRq11VmezLCp


B. 1

C. 0

D. 3

Answer: B

Watch Video Solution

9. If y = acosmx + bsinmx,  then 
d2y

dx2
=

A. -m2y

B. m2y

C. my2

D. my

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hRq11VmezLCp
https://dl.doubtnut.com/l/_cSKPTYiiODve


10. If y = 1 + x2 tan - 1x then y2 =

A. 
2x

1 + x2
+ 2tan - 1x

B. 
2x

1 + x2
- 2tan - 1x

C. 
2x

1 - x2
+ tan - 1x

D. 
2x

1 - x2
- 2tan - 1

Answer: A

Watch Video Solution

( )

11. If y = e - xcosx then y4 =

A. y

B. 2y

C. 4y

https://dl.doubtnut.com/l/_cSKPTYiiODve
https://dl.doubtnut.com/l/_MpVG9SPRU1tg
https://dl.doubtnut.com/l/_8wsTZWdtFW2V


D. -4y

Answer: D

Watch Video Solution

12. If y =
5x + 7
2x - 3

 then y2 =

A. 
44

(2x + 1)3

B. 
-44

(2x + 1)3

C. 
116

(2x - 3)3

D. 
-116

(2x - 3)2

Answer: C

Watch Video Solution

13. If y =
ax + b
cx + d  then 2y1y3 =

https://dl.doubtnut.com/l/_8wsTZWdtFW2V
https://dl.doubtnut.com/l/_WpXkflz3aPYA
https://dl.doubtnut.com/l/_7ZYQasEf9y58


A. y2

B. y22

C. 3y22

D. 4y22

Answer: C

Watch Video Solution

14. If y = e√x + e -√x then xy′ ′ + y′ /2 =

A. y

B. 4y

C. y /2

D. y /4

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_7ZYQasEf9y58
https://dl.doubtnut.com/l/_wHKc0nj8cxdI


Watch Video Solution

15. If y = log x +√x2 + 1  then y2(1) =

A. 0

B. 1

C. -12/√2

D. -1 /2√2

Answer: D

Watch Video Solution

( )

16. If y = log x +√x2 - 1  then, y2 √2 =

A. -√2

B. 1/2

( ) ( )

https://dl.doubtnut.com/l/_wHKc0nj8cxdI
https://dl.doubtnut.com/l/_umJOm0jFze72
https://dl.doubtnut.com/l/_JTiNh777gh6A


C. √2

D. none

Answer: A

Watch Video Solution

17. If 
1

1 + x + x2 + x3
 then y2(0) =

A. 1

B. -1

C. 1/2

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JTiNh777gh6A
https://dl.doubtnut.com/l/_Ed6oesIhaeCK
https://dl.doubtnut.com/l/_7l1Oz2QPndNt


18. If f(x)
x3

x2 - 1
 then f′ ′ (0) =

A. 1

B. -2!

C. 0

D. 2!

Answer: C

Watch Video Solution

19. If y = a + bx2, a, b arbitary constnats, then

A. 
d2y

dx2
= 2xy

B. x
d2y

dx2
= y1

C. x
d2y

dx2
-
dy
dx

+ y = 0

D. x
d2y

dx2
= 2xy

https://dl.doubtnut.com/l/_7l1Oz2QPndNt
https://dl.doubtnut.com/l/_vw1PzZxqJQwe


Answer: B

Watch Video Solution

20. If y = √cos2x then y
d2y

dx2
+ 2y2 =

A. 0

B. -
dx
dx

2

C. 
dy
dx

2

D. y
dy
dx

Answer: B

Watch Video Solution

( )
( )

21. If y = √sec2x then y2 =

https://dl.doubtnut.com/l/_vw1PzZxqJQwe
https://dl.doubtnut.com/l/_f5p4uC5DK79u
https://dl.doubtnut.com/l/_qAnERwnPUk4j


A. 3y5 - y

B. 3y - y

C. y

D. none

Answer: A

Watch Video Solution

22. If f(x) =
x2

a + x
thenf′ ′ (a) =

A. 4a

B. 1/8a

C. 1/4a

D. 8a

Answer: C

https://dl.doubtnut.com/l/_qAnERwnPUk4j
https://dl.doubtnut.com/l/_cuQkcKcFTbcE


Watch Video Solution

23. If y = √ax +
a2

√ax
theny1, y2 at x = a are

A. 0, 1 /2a

B. 1, 1

C. 0, 1

D. 0, 0

Answer: A

Watch Video Solution

24. If y = acos2x + bsin2x then y2 + 4y =

A. 2

B. 1

https://dl.doubtnut.com/l/_cuQkcKcFTbcE
https://dl.doubtnut.com/l/_nLAK7HLlGZSF
https://dl.doubtnut.com/l/_nW1KVKrTyzQy


C. 0

D. none

Answer: C

Watch Video Solution

25. If y = 3x, then
d2y

dx2
=

A. x(x - 1)3x - 2

B. 1

C. log3

D. y(log3)2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_nW1KVKrTyzQy
https://dl.doubtnut.com/l/_ajE5L5OkWvJB
https://dl.doubtnut.com/l/_4JoiGwQoFVKt


26. If y = xe - xtheny2 + 2y1 + y =

A. 0

B. 1

C. 2

D. none

Answer: A

Watch Video Solution

27. If y = x2cos3xtheny2atx = 0 is

A. 0

B. 1

C. 2

D. none

https://dl.doubtnut.com/l/_4JoiGwQoFVKt
https://dl.doubtnut.com/l/_APwfIDBhqYJ1


Answer: C

Watch Video Solution

28. If x = e2tcos, 3t,  then 
d2x

dt2
att = π /2 is

A. 12eπ

B. -12eπ

C. 6eπ

D. .

Answer: A

Watch Video Solution

29. Show that y = x + tanx satisfies the equation cos2x
dy2

dx2
+ 2x = 2y.

https://dl.doubtnut.com/l/_APwfIDBhqYJ1
https://dl.doubtnut.com/l/_lGYf9KL79ptT
https://dl.doubtnut.com/l/_AIMbzt4qk81F


A. 2y

B. y

C. 0

D. 1

Answer: A

Watch Video Solution

30. If y = sin(sinx) then y2 + (tanx)y1 + y cos2x =

A. 0

B. 1

C. 2

D. none

Answer: A

h id l i

( )

https://dl.doubtnut.com/l/_AIMbzt4qk81F
https://dl.doubtnut.com/l/_D9yCaPpLrKrB


Watch Video Solution

31. If yk is the kth derivative of y with respect to x, y = cos(sinx) then 

y1sinx + y2cosx =

A. ysin3x

B. -ysin3x

C. ycos3x

D. -ycos3x

Answer: D

Watch Video Solution

32. If y = ax2 + b /x then x2y2 =

A. y

B. 2y

https://dl.doubtnut.com/l/_D9yCaPpLrKrB
https://dl.doubtnut.com/l/_Dl0VYKmNr4qS
https://dl.doubtnut.com/l/_nQVr32wPV4Mo


C. 1

D. 0

Answer: B

Watch Video Solution

33. If y = ax4 +
b

x3
,  then

d2y

dx2
=

A. 12x2 /y

B. 12y /x2

C. 12x2y

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nQVr32wPV4Mo
https://dl.doubtnut.com/l/_LATyxSNd4CBS
https://dl.doubtnut.com/l/_4wzxK0bdpXQl


34. If y = acosx + (b + 2x)sinx then y2 + y =

A. 4cosx

B. cosx

C. x

D. none

Answer: A

Watch Video Solution

35. If y = a + be - 4x then y2 + 4y1 =

A. 0

B. 1

C. 2

D. 3

https://dl.doubtnut.com/l/_4wzxK0bdpXQl
https://dl.doubtnut.com/l/_8n0MWmTIhYx2


Answer: A

Watch Video Solution

36. If y = ax + b /x then x2y2 + xy1 - y =

A. 1

B. 0

C. 2

D. none

Answer: B

Watch Video Solution

37. If xy = aex + be - x then xy2 + 2y1 - xy =

A. 0

https://dl.doubtnut.com/l/_8n0MWmTIhYx2
https://dl.doubtnut.com/l/_yFC50Tj2mvFB
https://dl.doubtnut.com/l/_RaHpYvvZhDAc


B. y

C. a

D. none

Answer: A

Watch Video Solution

38. If y = x +√x2 - 1
m

 then x2 - 1 y2 + xy1 =

A. 1

B. m2y

C. m2

D. y

Answer: B

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_RaHpYvvZhDAc
https://dl.doubtnut.com/l/_S7MXGxdknrY1


39. If y = xe - 1 / x then x3y2 - xy1 + y =

A. 1

B. 0

C. 2

D. -1

Answer: B

Watch Video Solution

40. If y = esin
- 1x then 1 - x2 y2 - xy1 - y =

A. 0

B. 1

C. 2

( )

https://dl.doubtnut.com/l/_S7MXGxdknrY1
https://dl.doubtnut.com/l/_TWWIwxpXwOs4
https://dl.doubtnut.com/l/_vrbrfB2pPItt


D. none

Answer: A

Watch Video Solution

41. If y = sin logex  then x2
d2y

dx2
+ x

dy
dx

=

A. sin logex

B. cos logex

C. y2

D. -y

Answer: D

Watch Video Solution

( ) (
( )
( )

https://dl.doubtnut.com/l/_vrbrfB2pPItt
https://dl.doubtnut.com/l/_Yx9ULOCzKZdm


42. If y = acos(logx) + bsin(logx) then x2y2 + xy1 + y =

A. 0

B. 1

C. 2

D. none

Answer: A

Watch Video Solution

43. cos - 1
y
b

= 2log
x
2

, x > 0 ⇒ x2
a2y

dx2
+ x

dy
dx

=

A. 4y

B. -4y

C. 0

D. -8y

( ) ( )

https://dl.doubtnut.com/l/_1W5HRkrgLnBZ
https://dl.doubtnut.com/l/_dT36LZHfQVzb


Answer: B

Watch Video Solution

44. If y√1 + x2 = log x +√1 + x2  then 1 + x2 y1 + xy =

A. 1

B. 0

C. 2

D. -1

Answer: A

Watch Video Solution

( ) ( )

45. If y = ae -bxcos(cx + d) then y2 + 2by1 + b2 + c2 y =

A. 1

( )

https://dl.doubtnut.com/l/_dT36LZHfQVzb
https://dl.doubtnut.com/l/_R2DiVgVsCIZN
https://dl.doubtnut.com/l/_8q4fQld6D6Xd


B. 0

C. 2

D. -1

Answer: B

Watch Video Solution

46. If y = axn+1 + bx -n then x2y2 =

A. n(n + 1)y

B. n

C. n(n + 1)

D. 1

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_8q4fQld6D6Xd
https://dl.doubtnut.com/l/_eMfont5AvjSO


47. If y = aenx + be -nx then y2 =

A. n2

B. n

C. n2y

D. none

Answer: C

Watch Video Solution

48. If y = e - kx / 2(acosnx + bsinnx) then y2 + ky1 + n2 + k2 /4 y =

A. 0

B. 1

C. 2

D. none

( )

https://dl.doubtnut.com/l/_T6AlIVavQRx6
https://dl.doubtnut.com/l/_DoWUAo2pGnsp


Answer: A

Watch Video Solution

49. If y = acos(sinx) + bsin(sinx) then y2 + (tanx)y1 =

A. -ycos2x

B. cosx

C. ycosx

D. none

Answer: A

Watch Video Solution

50. f(x) = 10cosx + (13 + 2x)sinx ⇒ f′ ′ (x) + f(x) =

A. cosx

https://dl.doubtnut.com/l/_DoWUAo2pGnsp
https://dl.doubtnut.com/l/_2Ypq2yCWJ8ST
https://dl.doubtnut.com/l/_8Wc8C2gjBoOz


B. 4cosx

C. sinx

D. 4sinx

Answer: B

Watch Video Solution

51. If ay4 = (x + b)5 then 5yy2 =

A. y21

B. y2

C. y1

D. y

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8Wc8C2gjBoOz
https://dl.doubtnut.com/l/_7YigsJSkmBtz


52. If ax2 + by2 = c,  then y2 =

A. a

B. 
-ac

b2y3

C. 
-a
b

D. 0

Answer: B

Watch Video Solution

53. If x2 + xy + y2 = a2,  then y2 =

A. 
-6a2

(a + 2y)2

B. -6

C. 6

D. none

https://dl.doubtnut.com/l/_I4z4olnz2eUj
https://dl.doubtnut.com/l/_3MDZaG16LXJD


Answer: A

Watch Video Solution

54. If x3 + y3 = 3axy then y2 =

A. 
-2a2xy

y2 - ax 3

B. -2a3

C. -2

D. none

Answer: A

View Text Solution

( )

55. If y2 = (x - a)(x - b)then 
d3

dx3
d2y

dx2
- 2 / 3

=[( ( ) )]

https://dl.doubtnut.com/l/_3MDZaG16LXJD
https://dl.doubtnut.com/l/_tFAAxpZvwPG7
https://dl.doubtnut.com/l/_GCiaoOsLBnRT


A. 0

B. 1

C. 2

D. -1

Answer: A

View Text Solution

56. If x3 + y3 = 3ax2 then y2 =

A. 
-2a2x2

y5

B. 
4a2x2

y5

C. y5

D. 1

Answer: A

h id l i

https://dl.doubtnut.com/l/_GCiaoOsLBnRT
https://dl.doubtnut.com/l/_JXZyJzxneW5r


Watch Video Solution

57. If y2 = a2cos2x + bb2sin2x then y + y2 =

A. a2b2

B. 
a2b2

y3

C. y3

D. none

Answer: B

View Text Solution

58. If ax2 + 2hxy + by2 = 1 then (hx + by)3y2 =

A. 0

B. 1

C. h2 - ab

https://dl.doubtnut.com/l/_JXZyJzxneW5r
https://dl.doubtnut.com/l/_fBl0H5ev0d6k
https://dl.doubtnut.com/l/_N3e6jeQgVTwm


D. ab - h2

Answer: C

Watch Video Solution

59. If x3 - 3ax2 + y3 = 0then y5y2 =

A. -2a2x2

B. 2a2x2

C. a2x2

D. -a2x2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_N3e6jeQgVTwm
https://dl.doubtnut.com/l/_8YwJSThifEs1


60. If x2 + y2 = a2then
1 + y21

3 / 2

y2

=

A. a2

B. a

C. 1/a

D. none

Answer: B

Watch Video Solution

( )
| |

61. If y2 = 4ax then 4a2 1 + y21
3 / 2 + y2 + 4a2 3 / 2y2 =

A. 0

B. 1

C. -1

( ) ( )

https://dl.doubtnut.com/l/_rkSnQGNOWltz
https://dl.doubtnut.com/l/_dAk1ch9u8BjJ


D. none

Answer: A

Watch Video Solution

62. If x2 + 5xy + y2 = - 2x + y - 6 = 0 then y′ ′ at(1, 1) is

A. 
3
64

B. 
110
256

C. 
111
128

D. none

Answer: A

Watch Video Solution

63. If √x + √y = √a then y2 + 1 + y1
3y =( )

https://dl.doubtnut.com/l/_dAk1ch9u8BjJ
https://dl.doubtnut.com/l/_v1iknijNrCl2
https://dl.doubtnut.com/l/_7jNCF8nENQC6


A. 1/2a

B. 1/2

C. 1/a

D. -1 /2a

Answer: A

Watch Video Solution

64. If y = sin(x + y) then y2 + 1 + y1
3y =

A. 0

B. 1

C. -1

D. cos(x + y)

Answer: A

W h Vid S l i

( )

https://dl.doubtnut.com/l/_7jNCF8nENQC6
https://dl.doubtnut.com/l/_Hm2hQYTiJunk


Watch Video Solution

65. If x2 - xy + y2 = 1 and y′ ′ (1) =

A. -6

B. 2/3

C. 3/2

D. -2 /3

Answer: A

Watch Video Solution

66. If x2 - 2x2y2 + 5x + y - 5 = 0 and y(1) then y′ ′ (1) =

A. -8
22
27

B. -7
21
28

C. 
22
7

https://dl.doubtnut.com/l/_Hm2hQYTiJunk
https://dl.doubtnut.com/l/_59JVu5ipS1hu
https://dl.doubtnut.com/l/_m7i0fYG06T6b


D. 8

Answer: A

Watch Video Solution

67. If x = t2, y = t3 then 
d2y

dx2
=

A. 3/2

B. 1/4t

C. 3/2t

D. 3t /2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_m7i0fYG06T6b
https://dl.doubtnut.com/l/_C6QgbpqRxGls


68. If x =
2

t2
, y = t3 - 1,  then 

d2y

dx2
=

A. 15t2

B. 
15

16t2

C. 
15t7

16

D. 16t2

Answer: C

Watch Video Solution

( )

69. If x = acos3θ, y = asin3θthen
d2y

dx2
atθ = π /4 is

A. 
3a

4√2

B. 
1

12√2a

C. 
4√2
3a

https://dl.doubtnut.com/l/_pv4NnnEzitAv
https://dl.doubtnut.com/l/_dN6uEy2LxWoA


D. 
-4√2
3a

Answer: C

Watch Video Solution

70. If x = cosθ + θsinθ, y = sinθ - θcosθ then 
d2y

dx2
=

A. 
cosec3θ

θ

B. 
sec3θ
θ

C. 
tan3θ
θ

D. 
cot3θ
θ

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dN6uEy2LxWoA
https://dl.doubtnut.com/l/_G8rSxrnzFLXB


71. If x = a(θ + sinθ), y = a(1 - costhea)then
d2y

dx2
atθ =

π
4

 is

A. 
cosec3θ

θ

B. 2

C. -2√2

D. 
2 3 - 2√2

a

Answer: D

Watch Video Solution

( )

72. If x = a(θ - sinθ), y = a(1 - cosθ)theny2atθ = π /4 is

A. 
2 3 + 2√2

b

B. 
-2 3 + 2√2

a

C. 0

( )

( )

https://dl.doubtnut.com/l/_G7zcxNJKdn0q
https://dl.doubtnut.com/l/_wlpZLyV0xQUw


D. 1

Answer: B

Watch Video Solution

73. x = cosθ, y = sin5θ ⇒ 1 - x2
d2y

dx2
- x

dy
dx

=

A. -5y

B. 5y

C. 25y

D. -25y

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_wlpZLyV0xQUw
https://dl.doubtnut.com/l/_vEPohCm4z5By


74. If y =
lotex

x
and z = logex,  then 

d2y

dz2
+
dy
dz

=

A. e - z

B. 2e - z

C. ze - z

D. -e - z

Answer: D

Watch Video Solution

75. If x = sin - 1t, y = √1 - t2 then 
d2y

dx2
=

A. -√1 - t2

B. -1

C. t2

D. none

https://dl.doubtnut.com/l/_N5YpIxG0qGZH
https://dl.doubtnut.com/l/_2JjgWea1981o


Answer: A

Watch Video Solution

76. If y =
1
x

x
theny1(1) =

A. 1

B. -1

C. 0

D. none

Answer: C

Watch Video Solution

( )

77. If f(x) =
1
x

x
thenf′ ′

1
e

=( ) ( )

https://dl.doubtnut.com/l/_2JjgWea1981o
https://dl.doubtnut.com/l/_cpZ1bN2Z8y3D
https://dl.doubtnut.com/l/_uzXxY2tDjbYE


A. negative number

B. 0

C. positive number

D. none

Answer: A

Watch Video Solution

78. 
d2x

dy2
 equals :

A. 
d2y

dx2
dy
dx

- 2

B. -
d2y

dx2
dy
dx

- 3

C. 
d2y

dx2

- 1

D. -
d2y

dx2

- 1 dy
dx

- 3

( )( )
( )( )
( )
( ) ( )

https://dl.doubtnut.com/l/_uzXxY2tDjbYE
https://dl.doubtnut.com/l/_E3X9NAc7smMG


Answer: B

Watch Video Solution

79. If y2 = p(x) , a polyomial of degree 3 , then 2
d
dx

y3
d2y

dx2
 is equal to

A. P′ ′ (x) + P′ (x)

B. P′ (x)P′ ′ (x)

C. P(x)P′ ′ (x)

D. none

Answer: C

Watch Video Solution

( )

80. Let f(x) be a polynonial of degree 4 with 

f(2) = - 1, f′ (2) = 0 - , f′ ′ (2) = 2, f′ ′ (2) = - 12, f′ ′ (2) = 24 then f′ ′ (1) =

https://dl.doubtnut.com/l/_E3X9NAc7smMG
https://dl.doubtnut.com/l/_M5qs7t9AoBWD
https://dl.doubtnut.com/l/_30e2B0Ew0Vgb


A. 26

B. 13

C. 29

D. 62

Answer: A

View Text Solution

81. Let f be a twice differentiable functin such that

f′ ′ (x) - f(x) and f′ ′ (x) - g(x)Ifh(x) = [f(x)]2 + [g(x)]2, h(1) = 8 then h(2) =

A. 1

B. 2

C. 3

D. 8

Answer: D

https://dl.doubtnut.com/l/_30e2B0Ew0Vgb
https://dl.doubtnut.com/l/_rGhhvnoIf2wo


View Text Solution

82. If f :R → R is an even function having derivatives of all orders, then

an odd function among the following is

A. f′ ′

B. f′ ′ ′

C. f′ + f′ ′

D. f′ ′ + f′ ′ ′

Answer: B

Watch Video Solution

83. If f :ℝ → R is an even function which is twice differentiable on ℝ

and f′ ′ (π) = 1. ,  then f′ ′ ( - π) =

A. -1

https://dl.doubtnut.com/l/_rGhhvnoIf2wo
https://dl.doubtnut.com/l/_3Ixlw3Upkdh2
https://dl.doubtnut.com/l/_OVhTXIqHDjXz


B. 0

C. 1

D. 2

Answer: C

Watch Video Solution

84. Let f(x) be a twice differentiable function and f11(0) = 2, then 

Lim x→0
2f(x) - 3f(2x) + f(4x)

x2
 is

A. a

B. 2a

C. 3a

D. 4a

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OVhTXIqHDjXz
https://dl.doubtnut.com/l/_bJimMo6R5ZC7


Watch Video Solution

85. If P (x) is a polynomial of 2nd degree and

P(2) = - 1, P′ (2) = 0 and p′ ′ (2) = 2 then P′ (1) =

A. 0

B. 1

C. 2

D. -2

Answer: D

Watch Video Solution

86. If P(x) is polynomial of 3rd degree and P′ ′ (1) = 0, P′ ′ ′ (1) = 6 then 

P′ ′ (0) =

A. 0

https://dl.doubtnut.com/l/_bJimMo6R5ZC7
https://dl.doubtnut.com/l/_pOhyNRPiySCs
https://dl.doubtnut.com/l/_7ZQmVk5HGbei


B. 6

C. -6

D. none

Answer: C

Watch Video Solution

87. If f(x) = u /v then f′ ′ (x) =

A. 
1

v3

B. 
1

v3

v 0 u
v1 v u1
v2 2v1 u2

C. v3

D. none

Answer: B

| |

https://dl.doubtnut.com/l/_7ZQmVk5HGbei
https://dl.doubtnut.com/l/_JBQpyJz4AldQ


View Text Solution

88. If f(x) = xnthen

n

∑
r=0

f ( r ) (1)
r1

=

A. 0

B. 2

C. 2n

D. 2n

Answer: D

View Text Solution

89. The nth derivative of log(ax + b) is

A. 
(1 - )n - 1(n - 1) !an

(ax + b)n

B. 
( - 1)nn !an

(ax + b)n

https://dl.doubtnut.com/l/_JBQpyJz4AldQ
https://dl.doubtnut.com/l/_PT22hZmd67zc
https://dl.doubtnut.com/l/_x5fBq2Icqa49


C. 
( - 1)n - 1(n - 1) !an - 1

(ax + b)n

D. none

Answer: A

View Text Solution

90. f(x) = sinx + cosx ⇒ f
π
4

f ( iv )
π
4

=

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_x5fBq2Icqa49
https://dl.doubtnut.com/l/_rVCb3FCXowjt
https://dl.doubtnut.com/l/_ExILZOohTuRy


91. The nth derivative of cos4x is

A. 2n - 1cos 2x +
nπ
2

+ 22n - 3cos 4x +
nπ
2

B. 2ncos 2x +
nπ
2

+ 22n - 2cos 4x +
nπ
2

C. 2n+1cos 2x +
nπ
2

+ 22n - 3cos 4x +
nπ
2

D. none

Answer: A

View Text Solution

( ) ( )
( ) ( )
( ) ( )

92. 
d20

dx20
[2cosxcos3x] =

A. 220 cos2x - 220cos4x

B. 220 cos2x + 220cos4x

C. 220 sin2x + 220sin4x

D. 220 sin2x - 220sin4x

( )
( )
( )
( )

https://dl.doubtnut.com/l/_ExILZOohTuRy
https://dl.doubtnut.com/l/_yBMZvC4dejKU


Set 2

Answer: B

Watch Video Solution

1. 
1. if F(X) =

1

x thenf′ (1) = A 2. Iff(x) =
x+1

x+3 thenf′ ( - 1) = B

3. Iff(x) = x2thenf′ (1) = C 4. Iff(x) = logxthenf′ (3) = D
 

The ascending order of A,B,C ,D is

A. B,A,C,D

B. B,D,A,C

C. A,D,B,C

D. A,B,C,D

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yBMZvC4dejKU
https://dl.doubtnut.com/l/_nAcEGvrNK2Qw
https://dl.doubtnut.com/l/_Nd1J0ey2pIGv


2. 
1. IFf(x) = xxthenf′ (e) = A 2. Iff(x) = sin - 1xthenf′ (1 /2) = B

3. Iff(x) = tan - 1xthenf′ (0) = C 4. Iff(x) = exthenf′ (e) = D
 

The ascending order of A,B,C,D is

A. C,B,D,A

B. B,C,D,A

C. A,B,C,D

D. D,C,B,A

Answer: A

View Text Solution

3. 1 
d
dx

cos - 1x + sin - 1x = A


2.
d
dx

tan - 1
1 + sinx
cosx

= B 


2 If f(x) = x +√x2 + 1  then f′ (1) = C 


( )

{ ( )]
( )

https://dl.doubtnut.com/l/_Nd1J0ey2pIGv
https://dl.doubtnut.com/l/_gb1TjGKYDy1Q


4 If f(x) = cos - 1 4x3 - 3x  then f′ (0) = D 


The ascending order A,B,C,D is

A. D,A,C,B

B. A,B,C,D

C. A,D,C,B

D. B,C,A,D

Answer: D

View Text Solution

( )

4. 1. If x = at2, y = 2at then 
dy
dx

att = 1 is A 


2 If x = cosθ, y = sinθ then 
dy
dx

atθ =
π
4
isB 


3 If x = 1 - cosθ, y = sinθ,  then 
dy
dx

atθ =
π
6
isC 


4 If x = logsinθ, y = tanθ then 
dy
dx atθ =

π
4  is D. 


The ascending order of A,B,C,D is

https://dl.doubtnut.com/l/_gb1TjGKYDy1Q
https://dl.doubtnut.com/l/_xrRN13MUBrT3


Set 3

A. A,B,C,D

B. A,B,D,C

C. B,A,D,C

D. D,C,B,A

Answer: C

Watch Video Solution

1. Match the following 

A. a,b,c

B. c,a,b

https://dl.doubtnut.com/l/_xrRN13MUBrT3
https://dl.doubtnut.com/l/_uiOkB7KcVhcL


C. b,c,a

D. a,c,b

Answer: B

View Text Solution

2. Match the following 

 

A. a,b,c,d

B. c,d,b,a

C. c,b,d,a

D. b,a,d,c

https://dl.doubtnut.com/l/_uiOkB7KcVhcL
https://dl.doubtnut.com/l/_16UJ3uHVM1MZ


Answer: C

View Text Solution

3. Match the following 

A. a,b,c,d

B. c,d,b,a

C. c,b,d,a

D. b,a,d,c

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_16UJ3uHVM1MZ
https://dl.doubtnut.com/l/_Eb88WWDFFTyr
https://dl.doubtnut.com/l/_eTjAnkRvO9A7


4. Match the following 

A. b,c,a,e

B. b,c,d,e

C. b,a,c,d

D. d,c,a,e

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_eTjAnkRvO9A7


Set 4

5. Match the following 

A. b,a,c,d

B. b,a,d,c

C. a,b,c,d

D. b,a,c,e

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_a4qGzS7E5L0s


1. The derivative of (logx)xw. r. txis(logx)x - 1[1 + logxlog(logx)] 


R :
d
dx

f(x)g ( x ) g(x)
f′ (x)
f(x)

+ g′ (x)log(f(x)]

A. Both A and R are true R is correct reason of A

B. Both A and R are treu R is not correct reason of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

{ [

2. A : Ify = xy then 
dy
dx

=
y2

x(1 - logy)
 


If y = f(x)y,  then
dy
dx

=
y2f′ (x)

f(x)[1 - ylogf(x)]
=

y2f′ (x)
f(x)[1 - logy]

A. Both A and R are true R is correct reason of A

B. Both A and R are treu R is not correct reason of A

https://dl.doubtnut.com/l/_HMYqGeQmbC33
https://dl.doubtnut.com/l/_CED9XWgWUgoC


C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

3. A : Ify = √sinx + ythen
dy
dx

=
cosx
2y - 1

 


R : Ify = √f(x) + ythen
dy
dx =

f′ (x)
2y - 1 .

A. Both A and R are true R is correct reason of A

B. Both A and R are treu R is not correct reason of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CED9XWgWUgoC
https://dl.doubtnut.com/l/_9Quj8uZRWVGq


4. A :
d
dx

tan - 1
acosx + bsinx
bcosx - asinx

= 1 


R :
d
dx

tan - 1
acosf(x) + bsinf(x)
bcosf(x) - asinf(x)

= f′ (x)

A. Both A and R are true R is correct reason of A

B. Both A and R are treu R is not correct reason of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

{ ( )
{ ( )}

5. A : Iff(x) = xsin
1
x

(x ≠ 0) and f(0) = 0 then f′ (0) = 0 


R : Ltx→0sin
1
x

 does not exist

A. Both A and R are true R is correct reason of A

( )
( )

https://dl.doubtnut.com/l/_ShfBrAOzwLH6
https://dl.doubtnut.com/l/_FSqoYqFZrSNw


B. Both A and R are treu R is not correct reason of A

C. A is true but R is false

D. A is false but R is true

Answer: D

View Text Solution

6. Let f(x) = x|x| and g(x) = sinx 


Statement -1 g ∘  f is differentiable at x = 0 and its derivative is

continous at that point 

Statement -2 g ∘ f is twice differentiable at x = 0.

A. Statement -1 is true, Statement-2 is true, Statement-2 is not a

correct explanatin for Statement-1

B. Statement-1 is true , Statement-2 is false

C. Statement-1 is false, Statement-2 is true

https://dl.doubtnut.com/l/_FSqoYqFZrSNw
https://dl.doubtnut.com/l/_WweKEmbFGkdc


D. Statement-1 is true, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_WweKEmbFGkdc

